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NISHANT PRAKASH LAW CLASSES 

CLAT MOCK - 145 

ANSWERS KEY AND EXPLANATIONS  

 

Passage 1: 

Q1) Correct Answer: A 

Lines: L14–16, L17–18, L12–13 

Difficulty: Medium 

 The passage stresses haste and lack of preparation, then shows PR benefits to Putin and minimal deliverables for 
the U.S. (L14–16, L12–13). 

 It emphasizes optics—stepping onto U.S. soil by invitation—and the aura of legitimacy (L15–18). 
 Option A captures both strands: under-preparation and the resulting PR/legitimacy windfall. 
 B is wrong because the text states “little or nothing was accomplished” and only a continuation of talks was agreed 

(L12–13). 
 C is wrong: there is no indication of bipartisan unity or strengthened allied cohesion; tone is critical of U.S. 

preparation (L14). 
 D contradicts the text; the pledge to end the war in 24 hours “failed to transpire” (L7). 
 The main idea is not merely that a meeting occurred, but that it was poorly prepared and optics favored Putin. 
 The author contrasts standard summit preparation (L1–4) with this case’s haste (L5), reinforcing A. 
 Thus, A alone matches both the diagnostic of process failure and the consequence in optics. 

 

Q2) Correct Answer: C (putative = supposed/commonly claimed) 

Line: L10 

Difficulty: Easy 

 Putative in context modifies “negotiating skills,” implying they are claimed rather than proven (L10). 
 C accurately captures that sense of “supposed/commonly claimed without conclusive proof.” 
 A “demonstrably proven” is the opposite of the implied skepticism in context. 
 B “reluctant” addresses willingness, not the evidentiary status of a claim. 
 D “aggressively confrontational” describes demeanor, not whether something is reputed or proven. 
 The surrounding sentence underscores lack of “real headway,” reinforcing the author’s doubt (L10). 
 The rhetorical contrast between reputation and results supports putative as merely claimed. 
 Hence, C best fits meaning-in-context. 

 

Q3) Correct Answer: D 

Lines: L14–16, L17–18 

Difficulty: Hard 

 The author links thin preparation (L14) to tangible optics: invitation and American soil (L15–16). 
 He then describes a leader under ICC indictment gaining “an aura of legitimacy” (L17–18). 
 D synthesizes this: symbolic acts can elevate legitimacy despite negligible substance. 
 A is refuted by the opening norms of summitry (L1–4) and the critique of haste (L5, L14). 
 B misunderstands the text: international law status did not prevent reputational benefits; the author suggests the 

opposite occurred (L17–18). 
 C is contradicted because press/ceremony/optics clearly matter here (L4, L15–18). 
 The passage’s thrust is that optics can outpace substance under poor preparation. 
 Thus, D captures the implied caution about protocol and perception. 
 This is an inference drawn across multiple paragraphs, hence higher difficulty. 

 

Q4) Correct Answer: B (berated ↔ praised) 

Line: L20 

Difficulty: Easy 
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 Berated means scolded or criticized harshly; the opposite is praised. 
 B is therefore the best antonym in context (L20). 
 A castigated, C censured, D admonished are all negative/reproach terms, not antonyms. 
 The passage highlights a negative public dressing-down (L20), so praise is the clear opposite. 
 Context contrasts that treatment with the hospitality shown to Putin, underscoring differing optics (L15–18, L19–

21). 
 Antonym questions test precision; only B reverses the sentiment. 
 Hence B is correct. 

 

Q5) Correct Answer: A 

Lines: L12–16, L17–18 

Difficulty: Medium 

 The author’s logic: a hurried, under-prepared, high-visibility event yielded optics favoring the counterpart, with little 
substance agreed (L12–13), while conferring legitimacy (L15–18). 

 A mirrors this: abrupt invitation, no concrete agreement, but the rival harvests public imagery implying 
endorsement. 

 B, C, D all involve careful preparation and concrete outputs (communiqué, collaborations, enforceable code), which 
do not match the passage’s thin-substance/high-optics scenario. 

 The key analogy hinge is haste + optics ≠ substance, which A captures. 
 Therefore, A alone aligns with the author’s critique of process and outcome. 

 

Q6) Correct Answer: C 

Lines: L5, L12–16, L17–18 

Difficulty: Medium 

 The tone is skeptical of preparation (“raises profound questions” L5) and critical of outcomes (“little or nothing was 
accomplished” L12–13). 

 It underscores PR/legitimacy gains for Putin (L14–18), suggesting a negative appraisal of U.S. strategy. 
 C encapsulates this evaluative stance: criticism of haste/prep and concern about conferring legitimacy for little 

return. 
 A is wrong; the author is not neutral—value judgments pervade the piece. 
 B is the opposite of the text’s critique; there’s no praise for disruption here. 
 D is too narrow; the ICC is mentioned, but the thrust is diplomatic optics and preparation, not doctrinal ICC analysis 

(L17–18). 
 Thus C best reflects the author’s stance and intention. 

Passage-in-brief (4–5 lines) + How to read it: The passage criticizes a hastily arranged Trump–Putin summit, arguing that 

thin preparation yielded little substance while gifting Putin symbolic legitimacy and PR wins (e.g., stepping on U.S. soil by 

invitation). It contrasts this with norms of summitry and with Trump’s harsher optics toward Zelenskyy. Theme: optics vs 

substance in diplomacy; legitimacy through protocol. Difficulty: medium→hard due to inference/tone and mapping of 

symbols to outcomes. While reading, track (i) process (preparation), (ii) outcomes (substantive vs ceremonial), and (iii) optics 

(invitation, soil, press), then synthesize the author’s stance. 

Question-by-question “how to solve” guide (1–3 lines each) 

Q1 (Main idea). Scan topic sentences and conclusions: the “lack of preparation” (L5, L12–16) + “PR legitimacy gains for 
Putin” (L17–18) + “little accomplished” (L12–13). Eliminate options promising comprehensive breakthroughs. 
Q2 (Vocabulary: putative). Use context: “for all his putative negotiating skills” + “he has not made any real headway” (L10) 
⇒ supposed/claimed, not proven. Reject meanings about attitude or aggression. 
Q3 (Inference about optics/legitimacy). Synthesize prep → optics → legitimacy: invitation + U.S. soil (L15–16) and “aura of 
legitimacy” despite ICC indictment (L17–18). Avoid absolute claims that ceremonies “never” matter. 
Q4 (Antonym: berated). Identify polarity: berated = harsh public criticism (L20). Pick the true opposite (praised), and discard 
near-synonyms (castigated, censured, admonished). 
Q5 (Analogy / similar logic). Map the structure: haste + no concrete agreement + rival gains PR. Choose the scenario where 
an abrupt invite yields viral endorsement optics without deliverables (mirrors L12–16, L17–18). 
Q6 (Author’s stance / intention). Collect evaluative cues: “raises profound questions” (L5), “little or nothing was 
accomplished” (L12–13), “aura of legitimacy” (L17–18). The stance is skeptical/critical, not neutral or purely legalistic. 
Elaborate logical brief (competitive-exam style) 
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Premises (stated facts) 
 Standard summitry involves extensive advance preparation; leaders finalize only residual issues (L1–4). 
 The Trump–Putin summit was hastily convened; prep on the U.S. side is questioned (L5). 
 Trump’s pledge to end the Ukraine war in 24 hours “failed to transpire” (L7). 
 Outcome: “little or nothing was accomplished,” beyond continuing discussions (L12–13). 
 Optics: Putin stepped on American soil via a presidential invitation (L15–16). 
 Despite ICC indictment (2023), the visit conferred “an aura of legitimacy” (L17–18). 
 Contrast: Zelenskyy was publicly “berated” by the U.S. Vice-President during his visit (L19–21). 

Inferences (unstated but supported) 
 Optics/protocol can shift perceived legitimacy independent of substantive outcomes (L15–18). 
 Poor preparation increases the risk that symbolism outpaces and distorts strategic goals. 
 U.S. hospitality toward Putin, juxtaposed with harsher optics for Zelenskyy, muddles allied signaling. 

Conclusions (author’s takeaways) 
 The summit primarily benefited Putin’s image, not U.S. interests, and lacked substantive gains. 
 Process failures (insufficient preparation) led to strategic mispricing of optics vs outcomes. 

Arguments (claims + support) 
 Claim: Preparation is essential to avoid ceding PR advantages. 

o Support: Normative baseline (L1–4) vs this summit’s haste (L5) and poor yield (L12–13). 
 Claim: Protocol choices communicate legitimacy. 

o Support: U.S. invitation/U.S. soil (L15–16) producing “aura of legitimacy” (L17–18) despite ICC status. 
Assumptions (needed for the arguments to hold) 

 International audiences read symbolic gestures (soil, invitation, photo-ops) as legitimacy signals. 
 Better preparation would likely have constrained optics or extracted concessions. 
 Public “berating” of an ally signals diminished regard, influencing perceptions of alignment. 

Potential weaknesses / counterpoints (what a test might probe) 
 Post hoc: Even with better prep, substantive outcomes aren’t guaranteed. 
 Optics may not uniformly translate to durable legitimacy; audiences can discount them. 
 The causal weight of “invitation/soil” in shaping legitimacy could be context-dependent. 

Paradoxes / tensions 
 A leader under ICC indictment gains legitimacy via a red-carpet invitation—legality vs optics in tension. 
 A meeting framed (politically) as deal-making yields only “continue talking,” yet still confers image benefits. 
 A self-styled master negotiator’s record (no “real headway,” L10) undercuts the reputation the optics try to project. 

 

Passage 2: 

Q7. Correct Answer: A 

Lines: L1–L4 (inheritance, passing/performance), L5–L11 (courtship and identity reveal), L12–L19 (jealousy, threat, 

community drama) 

Difficulty: Medium 

The passage traces a matrilineal “gift” (L1–L3) of color-changing used strategically—assuming a “respectable white 

governess” with mannerisms and entitlement (L4)—to survive and access goods. This skill’s social meaning is foregrounded, 

not merely its magic: it enables infiltration amid a racialized order. The Osceola County aside (L6) critiques settler disrespect, 

embedding the gift within histories of violence. The courtship scene (L5, L7–L11) shows the gift giving way to authenticity 

before kin-making. The last episode (L12–L19) dramatizes jealousy and threat, again mapping color to emotion/power 

(“deep crimson,” “new blood”). Option A uniquely integrates these strands—survival, performance, intimacy, and cost. B is 

incorrect because it treats the ability as spectacle divorced from power (contradicted by L4, L6). C invents a legal-policy tract 

absent from the text. D romanticizes without the text’s costs, threats, and critique. 

 

Q8) Correct Answer: B (Guileless) 

Line: L4 (“duplicitous marionette”) 

Difficulty: Easy 

Duplicitous means deceitful or double-dealing; the controlling metaphor—puppet strings of entitlement “holding [bones] 

hostage” (L4)—underscores concealed manipulation. The direct antonym is guileless, meaning sincere and free of deceit, 

hence B. A “Deceitful” and D “Two-faced” are synonyms of duplicitous, not antonyms. C “Crafty” likewise suggests slyness; 
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it is closer to synonymy. Context reinforces duplicity: the adopted mannerisms and posture perform a false social status (L4). 

The antonym must invert this moral valence from concealed artifice to open sincerity, which only B does. This is a straight 

meaning-in-context antonym, anchored to the passage’s metaphor. 

 

Q9) Correct Answer: D 

Line: L6 

Difficulty: Hard 

The sentence “It’s named for the slaughtered chief whose pronunciation its white residents butchered long after his death” 

packs layered indictment. “Slaughtered” signals violent dispossession; “butchered” doubles as a verb for mangled 

pronunciation, extending harm symbolically. D captures this compounding disrespect—continued mispronunciation after 

killing—implying ongoing colonial contempt. A and B are contradicted: the text does not portray careful preservation; it 

highlights distortion. C misreads tone; the line is evaluative, not neutral. The rhetorical effect links naming practices to power, 

reinforcing how language enforces hierarchy and erasure. This inference requires reading tone and metaphor, not just 

surface facts, hence the higher difficulty. 

 

Q10) Correct Answer: B 

Line: L8 (structure of the binding phrase) 

Difficulty: Medium 

The original packs multiple modifiers: “bound to a horse cart by a slipknot … and shackles ….” B fixes parallelism—“by a 

slipknot … and by shackles …”—and cleanly brackets the nonessential participial phrase between commas, preserving logical 

attachment to “he” while maintaining the base clause (“sat in the dirt…”). A is clumsy (“having shackles”) and disrupts idiom; 

it also loses the neat “by X and by Y” parallel. C creates ambiguity about what is “by a horse cart” and jumbles focus, 

weakening the vivid image. D stacks prepositions and misorders elements, risking a garden-path reading and obscuring the 

parallel agents of binding. Good grammar here supports narrative pacing and image clarity without altering meaning. 

 

Q11) Correct Answer: A 

Lines: L4 (“assume the form… respectable white governess” with mannerisms and entitlement), L3 (using change to trade), 

L5–L11 (revelation of true self) 

Difficulty: Medium 

The heart of the logic is strategic performance—adopting dominant-class signals (dress, speech, posture, entitlement) to 

access safety and resources (L3–L4), then reinhabiting one’s identity in intimate spaces (L10–L11). A mirrors this: passing as 

an insider for transactional advantage while maintaining a distinct private identity. B (paywalls) is about distribution, not 

identity performance. C (rote cramming) involves appearance of success but lacks social-navigational mimicry. D (local SIM) 

is a convenience choice, not a performative access strategy keyed to hierarchy. The passage’s code-switching metaphor is 

social and embodied; A alone preserves that structural logic. 

 

Q12) Correct Answer: C 

Lines: L16–L19 

Difficulty: Easy–Medium 

The sequence is explicit: the grandmother, “as red as new blood,” grips a shotgun (L16); “a single shot rang out into the sky” 

(L17)—a warning, not a wounding—then she issues a lethal conditional threat (L18). The intruding woman “dropped her 

half-full bottle … and walked away” (L19). C precisely matches these steps. A is wrong: there is no injury, and the children do 

not chase her; “twenty children” appears earlier as a claim by the intruder (L14), not as actors. B misstates events: the bottle 

is dropped, not smashed, and no neighbors intervene. D contradicts L16–L18: the grandmother does come outside, fires, 

and threatens. The factual clarity anchors the scene’s stakes and the theme of protective ferocity. 

Passage-in-brief (4–5 lines) + How to read it: A granddaughter-narrator recounts a matrilineal “gift” of changing skin colour, 

used by the women in her family to survive, pass, and navigate racialised power. Vignettes—courtship in Osceola County and 

a midnight confrontation—yoke magic to history, violence, jealousy, and protection. The prose fuses identity performance 

(“respectable white governess”) with pointed colonial critique (the butchered pronunciation of a slaughtered chief). 
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How to read: track (i) the function of colour-shifting (survival/performance), (ii) the social order (settler/colonial hierarchy), 

and (iii) emotional registers (love, rage, protection). Difficulty is medium→hard for tone/inference and metaphor; main idea: 

a family’s survival craft doubles as a burden within a violent racial regime. 

1–3 line approach per question (for Q7–Q12) 

Q7 (Main idea) — Synthesize across both vignettes and the opening thesis: inherited colour-shifting as survival + intimate 
costs. Eliminate options that make it a neutral spectacle (B), a legal pamphlet (C), or a frictionless romance (D). 
Q8 (Antonym: “duplicitous”) — “Duplicitous” = deceitful/double-dealing; only guileless flips the moral polarity. The other 
options (A/C/D) are synonyms or near-synonyms, not antonyms. 
Q9 (Implied meaning of the Osceola line) — Read tone: “slaughtered” + “butchered [pronunciation]” = layered disrespect 
that persists after death. Reject neutral or preservationist readings (A–C). 
Q10 (Grammar/parallelism rewrite) — Choose the version that preserves meaning, improves clarity, and maintains parallel 
agents of binding (“by a slipknot … and by shackles”), cleanly bracketing the participial phrase. 
Q11 (Analogy: performance/passing for access) —Map structure, not surface: strategic adoption of dominant-class signals 
for safety/resources, then reversion in private. Discard options about convenience, paywalls, or rote cramming. 
Q12 (Factual sequence of confrontation) — Lift exact steps: warning shot into the sky → lethal conditional threat → intruder 
drops bottle and leaves. Eliminate any option adding injury, neighbours, or indoor negotiation. 

Elaborate logical brief (GMAT/LSAT/GRE/CLAT-style) 

Premises (textual givens) 
 The colour-changing “gift” is matrilineal and historically deployed for infiltration/trade (L1–L4). 
 The great-grandmother can “assume the form” of a respectable white governess, complete with mannerisms and 

entitlement (L4). 
 Osceola County’s name memorialises a slaughtered chief whose name is still mispronounced by white residents 

(L6). 
 The great-grandfather is enslaved/ensnared (“slipknot … bruised neck,” shackles) when they first meet (L8). 
 The grandmother later turns crimson and fires a warning shot, defending her marriage against an intruder (L16–

L19). 
Inferences (unstated but warranted) 

 Passing is not mere spectacle; it is a survival technology within a hostile racial regime (L3–L4). 
 Colonial violence persists symbolically through language practices (mispronunciation) even after physical slaughter 

(L6). 
 Colour shifts also index affect/power (love → blush to “rust,” rage → “new blood”) linking body, emotion, and 

agency (L10, L16–L17). 
Conclusions (authorial upshot) 

 The family’s gift both protects (access/safety) and burdens (identity performance, moral cost), operating under 
colonial domination. 

 Optics/role-play can secure resources in public, while truth and threat reassert in intimate spaces. 
Arguments (claims + support) 

1. Claim: Identity performance grants access otherwise denied. 
o Support: “Assume the form … respectable white governess” with full behavioural kit (L4) → trade/safety 

(L3). 
2. Claim: Colonial disrespect is ongoing, not historical. 

o Support: “Slaughtered chief” + ongoing mangling of his name (L6). 
3. Claim: The gift is entwined with emotion and risk. 

o Support: Blush to “natural rust” at first love (L10); “as red as new blood” before the warning shot (L16–
L17). 

Assumptions (needed for arguments to hold) 
 Social gatekeepers respond to external signals (skin, speech, posture) as authenticity proxies. 
 Language/pronunciation can enact symbolic violence. 
 Public performance is legible/efficacious to dominant audiences, even when privately disavowed. 

Paradoxes / tensions 
 Authenticity vs survival: To live safely, the women must perform an identity that is not theirs, risking internal 

alienation (“duplicitous marionette,” L4). 
 Commemoration vs erasure: A county named after a chief simultaneously dishonours him by butchering his name 

(L6). 
 Power through performance vs power through threat: The same lineage wields soft access (passing) and hard 

deterrence (shotgun warning) to defend kin (L16–L19). 
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Potential weaknesses / counter-points (what tests probe) 
 Passing might incur social/psychic costs not fully itemised here; the narrative hints but does not catalogue them. 
 The efficacy of performance depends on audience bias; contexts may vary. 
 Symbolic violence (mispronunciation) isn’t uniformly perceived as harmful—some might call it ignorance rather 

than contempt, though the text’s diction argues otherwise. 
 

Passage 3: 

Q13) Correct Answer: C 

Lines: L2–L5 (EPM tweak, Ministry expansion), L6 (U.S. share ~ one-third), L7 (deadlocked talks, failed personal equations), 

L9–L10 (supply chains take decades; EU oil & China rare earths), L14–L15 (novel responses; refashion ties incl. China). 

Difficulty: Medium 

 The passage’s core thesis ties immediate tariff shock to a multi-pronged domestic and external response: rework 
EPM (design, ministries), diversify markets, and refashion near-term ties including with China—all under the 
constraint that deep supply chains cannot be rebuilt quickly (L9–L10). 

 A is wrong: the text expressly says the government “ruled out direct subsidies” (L13). 
 B contradicts L9–L10 and L7; the text insists supply chains aren’t easily reoriented and talks are deadlocked. 
 D contradicts L7 (personal equations “have not translated into a win”), and the passage argues for policy action 

now. 
 C alone integrates tariffs, EPM tweaking, diversification, and the China recalibration. 

 

Q14) Correct Answer: D 

Line: L8 (“not as enmeshed as they are now, economically, culturally and militarily”). 

Difficulty: Easy–Medium 

 Enmeshed denotes being deeply interlinked/entangled; the clause explicitly lists multiple domains (economic, 
cultural, military), reinforcing dense interdependence. 

 D captures “deeply interlinked and difficult to separate.” 
 A miscasts the relation as “formally hostile,” which the passage does not state. 
 B and C suggest looseness or partial linkage, contradicting L8’s emphasis on breadth and depth. 
 Context thus fixes the meaning as tight interdependence, not casual association. 

 

Q15) Correct Answer: B 

Lines: L2 (“EPM… announced in the 2025 Union Budget, with an outlay of ₹2,250 crore for the current fiscal year”). 

Difficulty: Easy 

 B restates an explicit fact from L2. 
 A is false: L13 states the government “ruled out direct subsidies.” 
 C is wrong: L6 says “roughly a third,” not one-half. 
 D misreads L4: discussions are to include Textiles and Fisheries in implementation, not to displace Commerce or 

take “over” EPM. 
 

Q16) Correct Answer: B 

Line: L1 (tariffs 25% from Aug 7; could rise to 50% on Aug 27 contingent on talks). 

Difficulty: Medium 

 B is clean, idiomatic, and preserves parallelism (“could rise to 50%… contingent on negotiations”) while keeping the 
temporal markers intact; quotation marks retain the source diction (“bravely face”). 

 A is ungrammatical/awkward (“and which depending”), breaking parallel structure. 
 C misorders elements, drops necessary prepositions/articles, and muddles agency (“that were U.S.”). 
 D is verbose, stacks modifiers (“which are contingent”) ambiguously, and dilutes the clear 25%→50% progression. 
 In timed exams, prefer concise syntax that preserves meaning and logical sequence. 

 

Q17) Correct Answer: A 

Lines: L7 (deadlocked negotiations; personal equations failed), L9–L10 (supply chains can’t be undone overnight), L13 (ruled 
out direct subsidies), L14–L15 (novel responses; refashion ties incl. China). 
Difficulty: Medium 
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 A tracks the essay’s evaluative stance: critical of the impasse and quick-fix optimism, yet pragmatic—diversify 
markets, tweak EPM/ministries, consider China—while explicitly ruling out blanket direct subsidies (L13). 

 B contradicts L7 and the push for policy action. 
 C is inaccurate; the piece contains clear judgments and recommendations. 
 D invents protectionist measures (bans, capital controls) absent from the text. 
 The tone is policy-prescriptive and sober, not ideologically strident. 

 

Q18) Correct Answer: C 

Lines: L7 (“tacit admission” via diversification advice), L2–L5 (tweak EPM; widen Ministry remit), L15 (refashion ties incl. a 

previously sidelined China). 

Difficulty: Hard 

 C mirrors the structure: (i) implicit acknowledgment that the primary channel has stalled; (ii) risk-mitigating tweaks 
to finance/insurance; (iii) diversification into new markets; and (iv) pragmatic reopening to a formerly disfavoured 
partner—exactly the passage’s China move (L15). 

 A is the opposite—concentration, not diversification. 
 B denies stalling and diversification, conflicting with L7’s “tacit admission.” 
 D violates L9–L10’s supply-chain realism (you can’t rebuild “overnight”). 
 Hence C best preserves the logic of implicit concession + practical hedging. 

Passage-in-brief (4–5 lines) + How to read it 

The passage argues that steep U.S. tariffs and a deadlock in India–U.S. trade talks demand immediate, pragmatic action at 
home and abroad. Domestically, India should tweak the Export Promotion Mission (EPM), widen Ministry coordination, 
ease finance/insurance, and support MSME-heavy sectors; externally, it should diversify markets and even refashion near-
term trade ties with China. The writer stresses that supply chains are sticky—they take decades to build—so overnight 
fixes or overreliance on “personal equations” are unrealistic. 
How to read: track (i) the timeline & policy moves (L1–L5), (ii) diagnosis of constraints (L8–L10), and (iii) the prescription 
(L14–L15). Note evaluative cues (“tacit admission,” “ruled out direct subsidies”) to locate the author’s stance. Difficulty: 
medium for main idea/stance; harder for analogy/tacit-admission inference. 
1–3 line approach per question (Q13–Q18) 
Q13 (Main idea) – Look for the option that integrates all pillars: tariffs bite + talks deadlocked (L7) → tweak EPM/ministries 
(L2–L5) + diversify (L7) + refashion ties incl. China (L15) under supply-chain inertia (L9–L10). That’s why C wins. 
Q14 (Vocab: “enmeshed”) – Read the appositive triad “economically, culturally and militarily” (L8): it signals deep 
interlinkage; hence D (“deeply interlinked and difficult to separate”). 
Q15 (Factual retrieval) – Lift verbatim facts: EPM was announced in the 2025 Budget with ₹2,250 crore (L2) → B. Eliminate 
traps: no direct subsidies (L13), ~one-third not one-half to U.S. (L6), and ministries are to be included, not take over (L4). 
Q16 (Grammar/parallelism) – Preserve the 25% → could rise to 50% timeline with a clean modifier (“contingent on 
negotiations”). B keeps parallelism and clarity that mirror L1. 
Q17 (Author’s stance) – Collect stance signals: deadlock + failed personal equations (L7), rule out subsidies (L13), and novel 
responses incl. China (L14–L15). This pragmatic, critical posture maps to A. 
Q18 (Analogy / similar logic) – Map the structure: tacit admission of stalled talks (L7) + credit/insurance/EPM tweaks (L2–
L5) + diversification & reopening a sidelined partner (China) (L15) → scenario C mirrors all elements. 

Elaborate logical brief (GMAT/LSAT/GRE/CLAT-style) 

Premises (explicit text) 

 U.S. tariffs of 25% from Aug 7, 2025, potentially 50% from Aug 27 depending on talks; govt implores seafood 
industry to “bravely face” them (L1). 

 EPM announced in 2025 Budget; ₹2,250 crore; aims at cheaper export credit, tackling non-trade barriers, and 
payment insurance for MSMEs (L2–L3). 

 Discussions to include Textiles & Fisheries Ministries in EPM execution; these sectors + apparel/gems employ many 
and are tariff-exposed (L4–L5). 

 The U.S. is ~one-third of India’s apparel/seafood exports (L6). 
 Diversify advice = tacit admission of deadlocked talks; personal equations haven’t delivered (L7). 
 Today’s India–U.S. are more “enmeshed” than during the Cold War (L8). 
 Supply chains take decades; can’t undo overnight; EU–Russia oil and global China rare-earth reliance illustrate path 

dependence (L9–L10). 
 MSMEs are central: 45.79% goods exports; 28+ crore jobs; sectors seek moratorium/subvention; govt ruled out 

direct subsidies (L11–L13). 
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 Unprecedented challenges → novel responses; include a drastic refashioning of near-term ties with neighbours, 
esp. China (L14–L15). 

Inferences (logically supported, implicit) 

 Path dependence of supply chains implies hedging now (finance/insurance/market mix) is rational, not optional 
(L9–L10). 

 Diversification advice acknowledges that a quick bilateral fix is unlikely; hence portfolio of markets is needed (L7). 
 Including sectoral ministries suggests operational bottlenecks are cross-cutting and require coordinated execution 

(L4–L5). 
 No direct subsidies (L13) implies preference for credit/insurance/interest-rate tools over fiscal transfers. 

Conclusions (author’s takeaways) 

 India should retool EPM, broaden ministry involvement, and diversify exports, while also re-engaging regional 
options (incl. China) to cushion MSMEs. 

 Betting on leader-level rapport or overnight supply-chain rewiring is unrealistic. 
Arguments (claims + support) 

1. Claim: Short-term resilience comes from policy tools (credit, insurance, moratoria, ministry coordination) rather 
than waiting for a deal. 

o Support: Talks are deadlocked (L7); supply chains are slow to change (L9–L10). 
2. Claim: Diversification and regional refashioning are necessary hedges. 

o Support: U.S. exposure (~one-third, L6) + China/EU examples of dependency (L9–L10, L15). 
3. Claim: Direct subsidies are off the table; innovative but non-subsidy responses are required. 

o Support: Govt ruled out subsidies (L13) + “novel responses” (L14). 
Assumptions (required for the reasoning) 

 EPM tweaks and ministry inclusion will materially improve MSME access to credit/insurance and compliance 
navigation. 

 Diversification can be meaningfully accelerated in the near term despite path dependence. 
 Limited re-engagement with China is feasible and net beneficial commercially, even if politically sensitive. 
 Financial cushions (moratoriums/interest subvention) are fiscally manageable and faster to deploy than structural 

reforms. 
Paradoxes / tensions  

 Strategic paradox: Urging “bravery” (L1) while ruling out subsidies (L13) places moral pressure on firms yet limits 
fiscal backstops. 

 Geopolitical tension: Seeking relief via China ties (L15) even as China is emblematic of global dependency (L10). 
 Policy optics vs substance: Personal equations once touted as leverage (L7) now give way to institutional hedges, 

admitting realpolitik constraints. 
 Diversification vs stickiness: Push to diversify quickly competes with the premise that supply chains move slowly 

(L9–L10). 

 

Passage 4: 

Q19) Correct Answer: A 

Lines: L1 (provoked at his coming), L6–L9 (her imagined portrait vs reality), L10–L13 (no “brilliant” traits; courteous yet not 

solicitous), L18–L23 (puzzled → piqued; pursuit to penetrate his reserve) 

Difficulty: Medium 

 The narrative arc tracks a perception shift: annoyance and prejudice give way to unexpected liking and then 
fascination with Gouvernail’s reserve. 

 B misreads focus: the text centers on psychology, not economics/hunting (indeed he declines sport; L17). 
 C reverses the point: first impressions are subverted (L8–L9). 
 D ignores conflict: their tête-à-tête is disrupted (L3), and inner ambivalence pervades the piece. 

 

Q20) Correct Answer: B 

Line: L20 (“she gave over being puzzled and remained piqued”) 

Difficulty: Easy–Medium 

 Piqued in context = irritated/resentfully aroused, a state that persists after puzzlement. 
 A (enlightened/satisfied) contradicts “remained.” 
 C (amused) trivializes the tension. 
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 D (fearful/withdrawn) mismatches the subsequent proactive pursuit (L22–L23). 
 

Q21) Correct Answer: C 

Lines: L10–L13 (no “brilliant” traits; courteous but makes no appeal to her approval), L18–L20 (puzzled yet likes him), L22–
L23 (she seeks to penetrate his reserve) 
Difficulty: Hard 

 The attraction stems from contrast: he is courteous yet non-solicitous, quietly self-contained—not the cynical 
spectacle she expected (L6–L9, L13). 

 A is false: there’s no dazzling wit or aggression. 
 B contradicts L13 (“made no direct appeal to her approval”). 
 D is wrong: he avoids sport (L17). 
 Hence, her interest is curiosity toward reserve, not flattery or showiness. 

 

Q22) Correct Answer: D 

Lines: L14–L17 
Difficulty: Medium 

 D corrects clunkiness: “seemed to like sitting” (gerund), preserves parallel -ing forms (“smoking… and listening…”), 
and uses “recount” to clarify Gaston’s action. 

 A is awkward (“liked to seem to sit”) and mis-ordered. 
 B has agreement/duplication errors (“seemed he liked,” “and and,” “listening attentive”). 
 C breaks parallelism with finite “listened.” 
 Good revision maintains meaning, improves flow, and preserves logical subordination. 

 

Q23) Correct Answer: A 

Lines: L6–L9 (preconception vs reality), L22–L23 (active curiosity to “penetrate the reserve”) 

Difficulty: Medium 

 A mirrors the review-shaped prejudice overturned by reality, followed by investigative curiosity—a structural 
match to Mrs. Baroda’s arc. 

 B shows snap judgment with no curiosity. 
 C lacks mismatch; it confirms expectations. 
 D is credulity without verification, the opposite of the passage’s corrective encounter. 

 

Q24) Correct Answer: D 

Line: L12 (“he sat rather mute and receptive”) 

Difficulty: Easy 

 Receptive = open to receiving/considering; the best antonym is resistant. 
 A/B/C are synonyms or near-synonyms of receptive (amenable, welcoming, open-minded), not antonyms. 
 Context: he’s quiet and open to others’ words (L12–L13), so the opposite quality is closed/off or resistant. 

Passage-in-brief (4–5 lines) + How to read it 

The excerpt traces Mrs. Baroda’s shift from annoyance at an unexpected guest to a puzzled, then piqued fascination with 

Gouvernail, whose quiet reserve overturns her prejudiced mental picture. The theme is perception vs reality and the allure 

of self-containment. Tone is observational and psychologically precise rather than plot-driven. Difficulty: medium—most 

questions hinge on tone, inference, and mapping form to meaning. Approach: track (i) her initial expectation (L6–L7) vs 

actual traits (L8–L9), (ii) why “liking” arises despite “no brilliant traits” (L10–L13), and (iii) how her curiosity escalates into 

pursuit (L18–L23). 

1–3 lines of approach per question (Q19–Q24) 

Q19 (Main idea) Synthesize the arc: provocation → imagined cynic → understated reality → curiosity to “penetrate his 

reserve” (L1, L6–L9, L18–L23). Pick the option that centers her perception shift and his quiet subversion of her image. 

Q20 (Vocab: piqued) Anchor meaning in what follows: after puzzlement, she still feels a sharp, slightly resentful interest 

(L20–L23). Eliminate senses implying resolution or fear; choose “irritated/resentfully aroused.” 

Q21 (Inference: attraction’s source) Contrast lines L10–L13 (no dazzling traits; courteous but not flattering or approval-

seeking) with L22–L23 (she pursues his reserve). Infer that his self-containment, not flattery or sport, intrigues her. 
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Q22 (Grammar/clarity rewrite) Preserve the base clause and -ing parallelism (“…smoking… and listening…”) and replace the 

clunky “like to sit” with “like sitting.” Keep Gaston as the agent of “recount.” Choose the smoothest, most parallel option. 

Q23 (Analogy / similar logic) Map structure: a second-hand preconception is overturned by direct encounter → curiosity 

deepens (L6–L9, L22–L23). Pick the scenario with review-based bias corrected by meeting, followed by active inquiry. 

Q24 (Antonym: receptive) In “mute and receptive” (L12), he’s open to others’ talk; the clean opposite is resistant. Discard 

near-synonyms like amenable/welcoming/open-minded. 

Elaborate logical brief  

Premises (explicit text) 

 Mrs. Baroda is provoked by the news of Gouvernail’s visit (L1–L3). 
 She formed an unconscious image of him (tall, cynical, eyeglasses, hands in pockets) and disliked it (L6–L7). 
 Reality: slim, not tall/cynical; no eyeglasses; doesn’t carry hands in pockets; she rather liked him (L8–L9). 
 He lacks the touted “brilliant and promising traits”; is mute and receptive; courteous but not approval-seeking 

(L10–L13). 
 He enjoys quiet ease (portico, dogs), not sport (L14–L17). 
 She shifts from puzzled to piqued, then imposes her society and seeks to penetrate his reserve (L18–L23). 

Inferences (supported but unstated) 

 Her attraction is sparked by the mismatch between expectation and reality, and by the mystery of reserve, not 
display. 

 Gouvernail’s self-containment functions as a social counterpoint to Gaston’s “frank and wordy hospitality,” 
heightening his distinctiveness. 

 The text critiques prejudgment: hearsay-driven images are unreliable compared to lived interaction. 
Conclusions (authorial upshot) 

 First impressions built on hearsay are fragile; understated authenticity can disarm prejudice and elicit fascination. 
 Curiosity often intensifies when the other person neither flatters nor performs for approval. 

Arguments (claims + support) 

1. Claim: Reality quietly overturns prejudiced expectation. 
o Support: L6–L9 contrast her imagined “cynic” with the actual gentle presence and her immediate liking. 

2. Claim: Reserve can be compelling. 
o Support: He makes “no direct appeal” (L13), yet she becomes piqued and pursues his company (L20–L23). 

3. Claim: Social performances (wordy hospitality) can coexist with an alternative model—attentive quietude—that 
some find more affecting. 

o Support: L12–L17 juxtapose his listening, dogs, and portico ease with Gaston’s talk. 
Assumptions (needed for the reasoning) 

 Mrs. Baroda is self-aware enough to notice her own shift and act on it. 
 Hearsay-based images can bias affect before contact. 
 Self-containment is legible to others as a trait and can attract rather than repel. 

Paradoxes / tensions 

 Liking without reasons: She “could not explain satisfactorily” why she liked him (L10), yet the feeling intensifies—a 
tension between affect and rational account. 

 Piqued yet pursuing: Irritation coexists with attraction, fueling engagement rather than avoidance (L20–L23). 
 Hospitality vs reserve: In a setting of expansive talk (Gaston), it’s the quiet guest who dominates Mrs. Baroda’s 

attention. 
 

Passage 1:  

Q25. Correct Answer: A- Easy 

Explanation: 

The base tariff under Trump’s policy is 10%, a substantial hike from the previous rate of 2.5%. This across-the-board tariff 

affects all imports regardless of origin and reflects a foundational shift toward protectionist trade measures. 

 Option B falsely adds a luxury goods condition, which does not exist in the order. 

 Option C creates a false threshold-based tariff not stated in the policy. 

 Option D refers to WTO norms, which were bypassed in the unilateral tariff order. 

 

Q26. Correct Answer: D- Medium 
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Explanation: 

The Smoot-Hawley Act (1930) was a key piece of US legislation that dramatically raised tariffs during the Great Depression, 

worsening global economic collapse. Trump’s 2025 tariff regime has been likened to this due to its protectionist scale and 

potential to trigger retaliation. 

 Option A references post-war cooperation, not protectionism. 

 Option B relates to currency coordination, not tariffs. 

 Option C misrepresents the Marshall Plan, which promoted recovery, not trade barriers. 

 

Q27. Correct Answer: B- Hard 

Explanation: 

Cambodia, with a low per capita income of $2,950 and contributing just 1% to the US trade deficit, faces the highest tariffs 

under the new regime. This reflects a disproportionate impact on low-income nations despite their limited role in the deficit. 

 Option A inaccurately includes Myanmar and makes unsupported claims of dumping. 

 Option C names Sri Lanka, which is not mentioned in the tariff data. 

 Option D refers to Nepal, which is not relevant in this context. 

 

Q28. Correct Answer: B- Easy 

Explanation: 

India has chosen a pragmatic non-retaliatory path. Instead of matching tariffs, it is pursuing bilateral talks, aiming to reduce 

its own high tariffs, improve FDI norms, and create a transparent regulatory framework. This minimizes trade war risks 

while preserving negotiation space. 

 Option A falsely asserts India has retaliated. 

 Option C mentions WTO and sanctions, which India has avoided. 

 Option D introduces a defense quid-pro-quo not in play. 

 

Q29. Correct Answer: C- Hard 

Explanation: 

The US criticism focuses on state dominance in sectors like banking and insurance, not excessive privatization. The state-

owned banks hold 60% market share, and the insurance sector benefits from government support, creating unequal 

competition. 

 Option A, B, and D correctly reflect actual US concerns, including policy opacity, high agricultural tariffs, and 

restricted market access due to state control. 

 

Q30. Correct Answer: A- Easy 

Explanation: 

India's 27% tariff rate, while high, is lower than those imposed on Vietnam (46%), Bangladesh (37%), and Indonesia (32%), 

its direct textile and garment competitors. This gives India a relative price advantage in the US market. 

 Option B is factually incorrect — India is not exempt from non-agri tariffs. 

 Option C invents digital market exemptions not granted. 

 Option D overstates pharmaceutical waivers; only select exemptions were made, not a blanket waiver. 

 

Passage 2: 

Q31. Correct Answer: A- Medium  

Explanation: 

The first official World Chess Championship was held in 1886, where Wilhelm Steinitz defeated Johannes Zukertort, 

becoming the first World Chess Champion. This event marks the beginning of the formal history of the World Championship 

title. 

 Option B refers to Emanuel Lasker, who was Steinitz’s successor but not the first champion. 

 Option C refers to Fischer’s 1972 win, which is historically significant but much later. 
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 Option D misplaces Alekhine in the timeline and does not reflect the origin of the championship. 

 

Q32. Correct Answer: C- Easy 

Explanation: 

FIDE (Fédération Internationale des Échecs) took over the organization of the World Chess Championship in 1948, bringing 

the event under a structured global framework after the death of world champion Alexander Alekhine. 

 Option A is a fictional organization. 

 Option B misnames FIDE. 

 Option D refers to a general sports body that does not govern chess. 

 

Q33. Correct Answer: B- Easy 

Explanation: 

D. Gukesh qualified to challenge Ding Liren by winning the Candidates Tournament held in Toronto in April 2024. This 

tournament is the officially sanctioned pathway by FIDE to select a challenger. 

 Option A falsely frames it as a knockout match against a single player. 

 Option C overstates the role of rankings alone. 

 Option D incorrectly credits the Olympiad as a qualification mechanism. 

 

Q34. Correct Answer: D- Easy 

Explanation: 

Gukesh became the youngest undisputed World Chess Champion in history at just 18 years old, a record-breaking feat. This 

achievement adds to his already exceptional youth-based milestones. 

 Option A confuses participation with victory. 

 Option B mixes two distinct achievements. 

 Option C inaccurately emphasizes nationality of opponent and age in isolation. 

 

Q35. Correct Answer: D- Hard 

Explanation: 

D. Gukesh became the 18th individual to win the World Chess Championship, not the 17th. This number includes all 

champions since the title’s inception in 1886. 

 Option A is true; Gukesh earned the Grandmaster title at 12 years, 7 months, and 17 days. 

 Option B is accurate; he won gold at the 45th Olympiad and bronze at the 2024 Asian Games. 

 Option C is correct — he was the youngest ever to reach a FIDE rating of 2750. 

 

Passage 3: 

Q36. Correct Answer: B- Easy 

Explanation: 

The Economic Survey was first presented in the financial year 1950–51 as part of the Union Budget documentation. This 

marked the beginning of a structured economic assessment practice in post-Independence India. 

 Option A refers to 1947–48, which is inaccurate as the Survey wasn’t presented then. 

 Option C and D incorrectly refer to years unrelated to its inception. 

 1964 (Option D) is relevant to its separation, not its origin. 

 

Q37. Correct Answer: C- Medium 

Explanation: 

Since 1964, the Economic Survey has been presented as a standalone document, tabled a day before the Union Budget, to 

ensure independent analysis and informed debate. 

 Option A and B predate the actual reform. 
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 Option D inaccurately ties the separation to a much later year (1972), which is not supported by the administrative 

record. 

 

Q38. Correct Answer: C- Easy 

Explanation: 

The Economic Division of the Ministry of Finance, under the supervision of the Chief Economic Adviser, is responsible for 

preparing the Economic Survey. This ensures analytical rigor and alignment with macroeconomic realities. 

 Option A misidentifies the Department of Revenue, which is unrelated to survey preparation. 

 Option B incorrectly includes the RBI, which prepares its own reports but not the Economic Survey. 

 Option D wrongly attributes authorship to the PM’s advisory council. 

 

Q39. Correct Answer: C- Hard 

Explanation: 

The Union Budget 2025–26 identifies agriculture, MSMEs, exports, and investment as the four key engines of development. 

Large-scale manufacturing was not listed as a distinct engine in this framework. 

 Option A, B, and D are explicitly included. 

 Option C inaccurately inserts a sector not highlighted in this policy framing. 

 

Q40. Correct Answer: B- Easy 

Explanation: 

The theme of the Union Budget 2025–26 is “Sabka Vikas”, which aligns with the goal of inclusive and regionally balanced 

development, under the broader goal of achieving Viksit Bharat. 

 Option A misrepresents the slogan, though it aligns with long-term vision. 

 Option C and D are fabricated campaign-style titles not used in the 2025 Budget. 

 

Q41. Correct Answer: B- Medium 

Explanation: 

The Budget’s development focus highlights Garib (poor), Nari (women), Annadata (farmers), and Yuva (youth). Startups, 

while economically important, were not included as one of the key focus groups in the budget’s framing language. 

 Option A, C, and D are all part of the stated developmental target segments. 

 Option B introduces a relevant group, but not part of the primary budget lens. 

 

Passage 4: 

Q42. Correct Answer: C- Easy 

Explanation: 

The Rome Statute, adopted in 1998 by the UN General Assembly, is the foundational treaty that established the 

International Criminal Court (ICC). It laid out the ICC’s jurisdiction, structure, and functions, and became effective in 2002 

after receiving sufficient ratifications. 

 Option A is fictitious and misdates an unrelated convention. 

 Option B misidentifies the statute and misplaces the ICC’s origin. 

 Option D falsely refers to a post-2001 framework that does not exist. 

 

Q43. Correct Answer: A- Easy 

Explanation: 

The United States, Israel, and Russia have signed the Rome Statute but have not ratified it, meaning they are not legally 

bound by its jurisdiction. Their participation remains symbolic unless ratification occurs. 

 Option A lists countries that never signed the statute at all. 

 Option B is incorrect; Turkey signed but did not ratify, while Iraq and Iran have different positions. 

 Option D incorrectly includes countries with varying statuses, some of which are full members. 
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Q44. Correct Answer: C- Hard 

Explanation: 

The ICC’s prosecutor can open investigations proprio motu (on their own initiative), and the Court functions through three 

benches: pre-trial, trial, and appeals. Its judges and prosecutors serve non-renewable nine-year terms. The ICC can 

prosecute individuals from non-member states if the crimes occurred in member states or if the Security Council refers the 

case. 

 Option A is false — General Assembly approval is not required for warrants. 

 Option B misstates judicial term lengths and procedural enforcement. 

 Option D is incorrect — non-members can be prosecuted under certain jurisdictional circumstances. 

 

Q45. Correct Answer: A- Easy 

Explanation: 

Netanyahu and Gallant are accused of war crimes and crimes against humanity, primarily involving starvation of civilians, 

denial of access to medical supplies, and oversight of military operations causing death, torture, and destruction in Gaza. 

 Option B refers to different international offenses not charged. 

 Option C incorrectly links them to Hamas-related activities. 

 Option D misrepresents the charges and dilutes the scale of crimes mentioned. 

 

Q46. Correct Answer: B- Medium 

Explanation: 

While the ICC lacks its own enforcement mechanism, member states are legally obligated to arrest and extradite individuals 

subject to ICC warrants if they enter their territory. The effectiveness of enforcement, however, depends on diplomatic will. 

 Option A is false; UN peacekeepers do not enforce ICC warrants. 

 Option C misrepresents the legal procedures of ICC vs. UNHRC. 

 Option D incorrectly gives ICJ a role it does not have in ICC enforcement. 

 

Q47. Correct Answer: C- Easy 

Explanation: 

The warrant does not guarantee arrest, but it limits Netanyahu’s travel and imposes moral and diplomatic pressure, 

especially from ICC member states. It also heightens international scrutiny, although many allies may choose non-

enforcement. 

 Option A is false — there is no requirement for immediate defense treaty suspension. 

 Option B exaggerates Hamas’s diplomatic elevation. 

 Option D misapplies NATO procedures and enforcement powers under the Rome Statute. 

 

Passage 5: 

Q48. Correct Answer: B- Hard 

Explanation: 

The Nobel Prizes are awarded by specific institutions: 

 The Norwegian Nobel Committee awards the Peace Prize in Oslo. 

 The Swedish Academy awards the Literature Prize. 

 The Nobel Assembly at the Karolinska Institute awards the Medicine Prize. 

 These are official designations fixed since the inception of the prizes. 

 Option A wrongly lists WHO and a non-existent “Norwegian Parliament” role. 

 Option C fabricates institutional names. 

 Option D misattributes the Peace and Medicine awarding authorities. 

 

Q49. Correct Answer: C- Medium 
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Explanation: 

David Baker, Demis Hassabis, and John Jumper received the Nobel Prize in Chemistry for their groundbreaking work in 

computational protein science. 

 Baker was recognized for computational protein design. 

 Hassabis and Jumper co-developed AlphaFold2, an AI-based system that can accurately predict protein 3D 

structures, solving a decades-long challenge. 

 Option A inaccurately attributes CRISPR research to them. 

 Option B refers to disease mechanisms but not their work. 

 Option D fabricates a discovery regarding a “universal protein code”. 

 

Q50. Correct Answer: C- Medium 

Explanation: 

The core argument of the Nobel-winning economists Daron Acemoglu, Simon Johnson, and James A. Robinson is that 

colonial institutions that were extractive in nature led to enduring inequalities and persist today as barriers to prosperity. 

 Their research emphasized how elite-driven systems resist equitable reform. 

 Option A wrongly portrays colonialism as a force for growth. 

 Option B simplifies economic inequality to a capital access issue. 

 Option D introduces aid dependency, which is not the primary focus of their model. 

 

Q51. Correct Answer: B-  Easy 

Explanation: 

Han Kang was awarded the Nobel Prize in Literature for her poetic and experimental prose, often exploring historical 

trauma, grief, and fragility of life, especially in South Korea’s context. 

 Her major works like The Vegetarian and Human Acts reflect emotional depth and psychological complexity. 

 Option A misattributes political satire as her defining quality. 

 Option C refers to ecological literature, which is not her main theme. 

 Option D restricts her genre to non-fiction, which she does not primarily write. 

 

Q52. Correct Answer: B- Hard 

Explanation: 

Nihon Hidankyo, a Japanese organization of Hibakusha (atomic bomb survivors), was awarded the Peace Prize for its 

longstanding efforts to advocate for nuclear disarmament through testimony and awareness campaigns. 

 It has worked for decades to highlight the humanitarian cost of nuclear warfare. 

 Option A falsely links their work to digital warfare. 

 Option C misrepresents their influence on arms trade agreements. 

 Option D attributes actions they have not taken, such as ASEAN-based pacts. 

 

Q53 (Duty of Care – Workshop Harness) 

Correct Answer: C 

Explanation: Option C is correct because the passage makes clear that “every person owes, a duty of care, to another person 

while performing an act” (lines 1–2). This duty is “legal in nature and cannot be illegal or unlawful” (line 3). Even if gratuitous, 

when Kapoor undertook a specialized, inherently risky activity like mountaineering instruction, a legal relationship arose 

with Ms. Rao, requiring safe equipment. 

 A is incorrect: Line 3 rejects the notion that absence of payment absolves legal duty; gratuitous services can still 

create legal obligations. 

 B is incorrect: Line 3 expressly distinguishes legal duties from “moral, ethical or religious” ones. Kapoor’s duty was 

legal, not merely ethical. 

 D is incorrect: Line 6 stresses duty must be “towards the plaintiff,” not just paying participants; the plaintiff–

defendant relationship triggers it. 
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Difficulty: Medium–Hard (tests distinction between moral, contractual, and tortious duties). 

 

Q54 (Breach – Ophthalmologist Case) 

Correct Answer: B 

Explanation: Option B is correct because “a defendant breaches such a duty by failing to exercise reasonable care in fulfilling 

the duty” (line 8). Here, professional guidelines requiring scans set the standard of reasonable care. Dr. Mehta’s omission is 

a textbook “non-observance of a standard of care” (line 12). 

 A is incorrect: Patient assurances do not erase the doctor’s professional duty; the duty is not shifted to the patient. 

 C is incorrect: Even if not statutory, guidelines concretize the “reasonable care” standard (lines 9–12). 

 D is incorrect: No emergency existed; the rule applies to routine professional negligence, not life-threatening 

urgency. 

Difficulty: Medium (tests breach element via professional standards). 

 

Q55 (Actual Cause vs. Proximate Cause – Transformer Explosion) 

Correct Answer: D 

Explanation: Option D is correct because “actual cause or cause in fact” requires showing “but for the defendant’s actions, 

the plaintiff would not have incurred the damages” (line 14). Here, the driver’s swerve caused the pole strike, which caused 

the explosion. But liability also depends on proximate cause, i.e., “foreseeable consequences without intervention from 

anyone else” (line 18). Thus, explosion liability depends on foreseeability, not just actual cause. 

 A is incorrect: Actual cause extends beyond “immediate” injuries — it covers the full causal chain (lines 14–15). 

 B is incorrect: Proximate cause does not make a defendant liable for “all foreseeable harm” automatically; it requires 

reasonableness of foreseeability. 

 C is incorrect: Explosion not wholly independent; must be tested for foreseeability (line 19). 

Difficulty: Hard (requires distinction between “but-for” causation and foreseeability). 

 

Q56 (Consequential Harm – Oil Spill Slip) 

Correct Answer: A 

Explanation: Option A is correct because beyond proving breach, “it should also be proved that the failure of the defendant 

to exercise reasonable care resulted in damages to the plaintiff” (line 23). Ms. Desai must show direct harm (fracture, medical 

expenses, wage loss) resulted from the spill. 

 B is incorrect: Foreseeability alone ≠ damages; proximate cause addresses foreseeability (line 18), but damages 

must still be proved. 

 C is incorrect: Prior warnings show notice but not causal harm in this instance. 

 D is incorrect: Other slips establish pattern, but not Ms. Desai’s personal consequential harm. 

Difficulty: Easy–Medium (straight application of consequential harm requirement). 

 

Q57 (Proximate Cause – Chemist & Fire) 

Correct Answer: B 

Explanation: Option B is correct because proximate cause is “an action that produced foreseeable consequences without 

intervention from anyone else” (line 18). Storing volatile solvents negligently creates foreseeable risk of fire even if theft 

intervenes. Thus, chemist is liable for neighbor’s fire damage. 

 A is incorrect: Third-party theft doesn’t automatically break chain if harm is foreseeable (line 18). 

 C is incorrect: Liability isn’t confined to “premises” — proximate cause extends to foreseeable offsite harms. 

 D is incorrect: Insurance rules irrelevant; liability turns on foreseeability (lines 18–20). 

Difficulty: Hard (proximate cause + intervening acts). 

 

Q58 (Element Identification – “But-for” Test) 

Correct Answer: C 
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Explanation: Option C is correct because “the plaintiff… has the liability to prove… defendant’s violation of duty was the 

actual cause” (line 14). This is “often called the ‘but-for’ causation” (line 15). This matches the definition in the question. 

 A is incorrect: Duty of care (lines 1–3) ≠ causation. 

 B is incorrect: Breach (lines 8–12) ≠ causation. 

 D is incorrect: Consequential harm (line 23) is about damages, not but-for cause. 

Difficulty: Easy (direct recall of definition). 

1) Passage Overview & Reading Approach: This passage outlines the six essentials of negligence: (1) a legally recognized 
duty of care, (2) that duty owed specifically to the plaintiff, (3) a breach of that duty by falling below the reasonable-care 
standard, (4) actual (but-for) causation, (5) proximate (foreseeable) causation, and (6) consequential harm flowing from 
the breach. The challenge lies in disentangling factual (“but-for”) causation from legal (“foreseeability”) causation, and 
mapping complex scenarios onto each element. 
Approach: As you read, flag whether each scenario establishes a duty, breach, factual cause, legal cause, and actual damages 
in turn, then check that every element is satisfied before concluding negligence. 
2) Question-by-Question Explanation & Approach 
1. Duty of Care & Plaintiff Relationship: Focus on whether undertaking a specialized, potentially hazardous activity—here, 
a climbing workshop—creates a legal duty to participants, regardless of payment. 
2. Breach of Duty: Identify the applicable professional or industry standard of care (here, mandatory diagnostic scans) and 
see if the defendant’s actions deviated from that benchmark. 
3. Actual vs. Proximate Cause: Apply the but-for test to link the defendant’s act to the injury (actual cause), then assess 
whether the subsequent harm was a reasonably foreseeable consequence (proximate cause). 
4. Consequential Harm: After breach, confirm the plaintiff suffered actual losses—medical, economic, or personal—that 
flow directly from the breach. 
5. Proximate Cause & Foreseeability: Determine if the harm caused (e.g., fire damage offsite) was a natural and probable 
result of the defendant’s negligent act, rather than an unforeseeable, intervening event. 
6. Passage-Based Causation Definition: Recall that the “but-for” requirement defines Actual Cause (Cause in Fact)—the 
only element hinging on this counterfactual analysis. 
3) Legal Principles Mentioned in the Passage 

 Duty of Care: A legal obligation arises when one’s actions foreseeably risk harm to others. 
 Duty to the Plaintiff: Duty must be owed specifically to the injured party in the scenario. 
 Breach of Duty: Failure to meet the standard of reasonable care as defined by statute, case law, or industry practice. 
 Actual Cause (“But-For” Test): The injury would not have occurred but for the defendant’s negligent act. 
 Proximate Cause (Foreseeability): Liability extends only to harms that were a foreseeable, direct result of the 

breach, without unforeseeable interventions. 
 Consequential Harm: Plaintiff must show real, quantifiable damages—physical, financial, or emotional—that 

directly flow from the breach. 
 

Passage 2 

Q59. Answer: B 

Correct Option Explanation (Difficulty: Hard): 

The contract is voidable at Ms. Singh’s option because Mr. Rao’s threats constituted coercion, vitiating her free consent 

under Section 10 of the Indian Contract Act, 1872. As noted in the passage, Section 10 requires “free consent” (line 3). 

Consent obtained by threat of reputational harm is not free—it falls within coercion, which the courts have consistently 

recognised to include threats to reputation, not just physical force. Since Ms. Singh executed the contract solely to avoid 

fabricated allegations, her consent was not genuine, and the contract is voidable at her discretion. 

Why the Others Are Incorrect: 

 A: Incorrect, because “voluntary” signing (line 16) is negated when obtained under coercion. Consent given under 

threat is not considered free under Section 10 (line 3). 

 C: Incorrect, as contracts signed under coercion are voidable, not void ab initio; Section 2(h) (line 13) requires legal 

enforceability but does not automatically void agreements under coercion. 

 D: Incorrect, because the Act recognises threats beyond physical force (line 3) as vitiating consent; limiting coercion 

to physical force is doctrinally wrong. 

 

Q60. Answer: A 
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Correct Option Explanation (Difficulty: Medium-Hard): 

Under Section 11 (line 3) read with Section 10A of the IT Act (line 25), a minor’s contract is void ab initio regardless of the 

form in which it was made. Mr. Sharma, being seventeen, lacked competency to contract. Competence of parties is a 

fundamental requirement of Section 10 (line 3), and minority incapacity cannot be cured by the electronic recognition of 

contracts under the IT Act. Thus, the e-contract with EduLearn is unenforceable against him. 

Why the Others Are Incorrect: 

 B: Incorrect, because while Section 10A validates e-contracts (line 25), it does not override Section 11’s requirement 

that contracting parties be competent (line 3). 

 C: Incorrect, as the law does not allow minors’ contracts to be voidable at the provider’s option—minor contracts 

are void ab initio. 

 D: Incorrect, since the Indian Contract Act does not recognise ratification of a minor’s void contract upon attaining 

majority; once void, always void. 

 

Q61. Answer: C 

Correct Option Explanation (Difficulty: Hard): 

The contract is void, as Section 23 disallows agreements with unlawful consideration or objects. The passage makes clear 

that for a contract to be valid, its object must be lawful (line 3). Here, the consideration—unauthorised release of trade 

secrets—involves theft and illegality. Thus, although Mr. Verma performed his part, the underlying consideration is tainted 

by illegality, rendering the contract unenforceable ab initio. 

Why the Others Are Incorrect: 

 A: Incorrect, because free consent alone (line 3) cannot legalise a contract whose object is unlawful. Lawful object 

is mandatory. 

 B: Incorrect, as reciprocal promises under Section 2(f) (line 20) presuppose lawful consideration; here, the promise 

relates to an illegal act, making it void. 

 D: Incorrect, because Section 10A of the IT Act (line 25) validates electronic form but does not legalise contracts 

with unlawful objects. 

 

Q62. 

Answer: D 

Correct Option Explanation (Difficulty: Medium-Hard): 

The agreement is void under Section 23 because its object—vandalising a billboard—is both illegal and immoral. As the 

passage highlights, a “lawful object” is an essential feature of contracts (line 3). Since vandalism constitutes a criminal act 

against property, no mutual consent can salvage enforceability. The contract is thus void and unenforceable. 

Why the Others Are Incorrect: 

 A: Incorrect, because mutual agreement (line 16) does not validate contracts with illegal or immoral objects. 

 B: Incorrect, since vandalism is criminal, not merely improper. This is not a case of voidability; the contract is void 

outright. 

 C: Incorrect, because the IT Act (line 25) validates electronic contracts in form, not in substance. It does not override 

the Contract Act’s prohibition on illegal objects. 

 

Q63. 

Answer: A 

 

Correct Option Explanation (Difficulty: Medium): 

Section 12 of the IT Act (line 39) explicitly recognises acknowledgement by automated systems. Since TechSupply required 

confirmation via the automated portal, and E-Widgets’s system generated the “Received” notification through that portal, 

statutory requirements were satisfied. Accordingly, a binding e-contract was formed. 

Why the Others Are Incorrect: 
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 B: Incorrect, because the requirement specified by TechSupply (line 39) was automated confirmation, which was 

fulfilled. Manual email was not demanded. 

 C: Incorrect, as the IT Act explicitly validates automated acknowledgements (line 39), contradicting this statement. 

 D: Incorrect, because Section 10A (line 25) validates electronic contracts, and Section 12 ensures acknowledgements 

can be automated. Together, they uphold contract validity. 

 

Q64. 

Answer: B 

Correct Option Explanation (Difficulty: Easy-Medium): 

Section 2(f) of the Indian Contract Act (line 20) defines reciprocal promises as mutual promises where each party’s promise 

forms consideration for the other. This bilateral structure underpins enforceability, reflecting the idea of quid pro quo in 

contract law. 

Why the Others Are Incorrect: 

 A: Incorrect, because this describes a unilateral promise, not mutual reciprocal obligations. 

 C: Incorrect, as this confuses reciprocal promises under Section 2(f) with e-contract mechanics under Section 12 of 

the IT Act (line 39). 

 D: Incorrect, since contingencies (line 13) relate to conditional contracts, not reciprocal promises. 

Passage Summary and Approach 

To tackle this passage effectively, start by recognising that it contrasts traditional contract essentials under the Indian 
Contract Act, 1872—like free consent, capacity, lawful object and consideration—with the digital recognition of contracts 
under the IT Act, 2000. Note how each conceptual pillar of contract law is defined in the statutory provisions, and pay 
attention to the specific sections cited (e.g., Section 2(h) on “contract,” Section 10A on e-contracts). As you read, mentally 
map each principle to real-world scenarios, distinguishing between void, voidable and enforceable agreements. The 
language is dense with definitions and cross-references, so underline terms and section numbers to trace their 
interconnections. Finally, focus on how the IT Act overlays the Contract Act’s framework rather than replaces it. 
Question–by–Question Guidance 

 Question 59 (Coercion and Free Consent): Here you must identify which form of threat vitiates consent under 
Section 10. Focus on the nature of the threat (reputational versus physical) and recall that undue influence and 
coercion include wrongful threats to reputation. 

 Question 60 (Minor’s Competence): This tests capacity under Section 11 read with Section 10A. Remember that 
electronic form doesn’t override the rule that minors’ contracts are void ab initio. 

 Question 61 (Lawful Consideration): Center your analysis on Section 23’s prohibition of illegal 
objects/consideration. Ask: Is the act promised legal? If not, the contract is void irrespective of mutual consent. 

 Question 62 (Lawful Object): Again invoke Section 23. Distinguish between void and voidable by noting whether 
the object itself is criminal or only undesirable. Vandalism is a crime, so no enforceability. 

 Question 63 (E-Contracts Acknowledgement): Apply Sections 11–12 of the IT Act. Automated acknowledgements 
count if the originator specified that mode—manual confirmation isn’t mandatory once parties agree on 
automation. 

 Question 64 (Reciprocal Promise): This purely tests the definition in Section 2(f). Look back at the passage’s 
explanation: a promise that serves as consideration for another mutual promise. 

Legal Principles from the Passage 
 Free consent must be obtained without coercion, undue influence, fraud, misrepresentation or mistake (Section 

10). 
 A contract requires competent parties; minors’ agreements are void (Section 11). 
 The object of a contract must be lawful; agreements for illegal or immoral acts are void (Section 23). 
 Consideration must be lawful; promises founded on illegal acts vitiate the contract (Section 23). 
 A “contract” is defined by mutual agreement creating enforceable rights and duties (Section 2(h)). 
 A “promise” arises from an accepted proposal (Section 2(b)). 
 “Reciprocal promises” are mutual promises where each is the consideration for the other (Section 2(f)). 
 E-contracts in electronic form are enforceable and not invalid solely due to their electronic nature (Section 10A, IT 

Act, 2000). 
 Electronic records must be accessible for future reference and are treated as written documents (Section 4, IT Act). 
 Originators of electronic records are those who send them or on whose behalf they are sent, including automated 

systems (Section 11, IT Act). 
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 Acknowledgement of receipt of electronic records may be via automated or manual means, provided it meets the 
originator’s specified method (Section 12, IT Act). 

 

Passage 3 

Q65. Answer: C 

Correct Option Explanation (Difficulty: Hard): 

Under Section 73 of the Contract Act, 1872, damages are awarded only for losses which “naturally arose or the parties had 

the knowledge of the same” (line 7). Here, Mr. Malhotra’s lost corporate lease bonus of ₹2 lakhs does not automatically 

arise from late delivery of furniture, as it is a collateral business arrangement. However, if Stellar Furnishings had actual 

knowledge of this bonus dependency at the time of contracting, the loss would be compensable. Without such knowledge, 

the loss is remote, but with knowledge, it becomes foreseeable and recoverable under Section 73. 

Why the Others Are Incorrect: 

 A: Incorrect, because there is no evidence that the lease bonus was within the reasonable contemplation of both 

parties; foreseeability requires proof of actual awareness (line 7). 

 B: Incorrect, as the bonus is not automatically remote. Section 73 excludes “indirect/remote damages” (line 9), but 

a loss tied directly to known circumstances may still be recovered. 

 D: Incorrect, Section 73 does not bar recovery on the ground of lease negotiations; the focus is on foreseeability 

and knowledge, not the nature of the transaction (line 7). 

 

Q66. Answer: B 

Correct Option Explanation (Difficulty: Medium-Hard): 

Section 73 allows recovery where special circumstances causing loss were known to the promisor at the time of contracting. 

In this case, EnviroClean was expressly informed that installation by June 30 was necessary to secure a government subsidy 

of ₹5 lakhs. Since this fact was within EnviroClean’s knowledge, the loss of subsidy falls squarely under Section 73 as a 

foreseeable consequence (line 23). Therefore, GreenTech can recover the full ₹5 lakhs. 

Why the Others Are Incorrect: 

 A: Incorrect, because the subsidy loss is not remote—it was directly within EnviroClean’s contemplation, having 

been expressly told (line 23). 

 C: Incorrect, Section 73 does not impose a formula limiting recovery to half the forfeited amount; it allows full 

compensation for foreseeable loss (line 7). 

 D: Incorrect, no proof of further consequential losses is required once the special circumstance was communicated; 

the subsidy alone suffices (line 23). 

 

Q67. Answer: C 

Correct Option Explanation (Difficulty: Hard): 

Section 74 states that where a penalty or pre-specified sum is stipulated, the aggrieved party is entitled to “reasonable 

compensation not exceeding the amount so named” (line 13). In this case, Metro Realty seeks ₹3 crores though only two 

months’ delay occurred, amounting to ₹2 crores under the stipulated clause. The court has discretion to reduce even that 

figure if found excessive. Therefore, Metro Realty may validly claim a reasonable sum up to ₹2 crores, subject to judicial 

moderation (line 15). 

Why the Others Are Incorrect: 

 A: Incorrect, because although ₹2 crores matches the stipulated sum for two months’ delay, the court still must test 

it against reasonableness before enforcing (line 15). 

 B: Incorrect, the court is not bound to enforce ₹3 crores simply because it is written; Section 74 allows scrutiny of 

penalties (line 15). 

 D: Incorrect, penalty clauses are not void in India; they are enforceable to the extent they provide reasonable 

compensation (line 15). 

 

Q68. Answer: C 

Correct Option Explanation (Difficulty: Medium): 
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In Fateh Chand v. Balkishan Dass, the Supreme Court held that courts are not obliged to enforce a stipulated sum blindly but 

may award reasonable compensation even where a penalty is specified (line 15). The Court reduced the stipulated 

compensation from ₹50,000 to ₹10,000 per day because the original figure was extravagant and unconscionable. This 

illustrates the principle of judicial discretion in moderating penalties to reasonable levels. 

Why the Others Are Incorrect: 

 A: Incorrect, because Fateh Chand makes clear that stipulated sums are not automatically enforced; reasonableness 

must be assessed (line 15). 

 B: Incorrect, the court has the authority to reduce or alter the stipulated sum if it is excessive (line 15). 

 D: Incorrect, Section 74 does not void clauses providing higher sums than actual loss; it allows courts to grant a 

reasonable amount instead (line 15). 

 

Q69. Answer: B 

Correct Option Explanation (Difficulty: Hard): 

In Kailash Nath Associates v. DDA, the Supreme Court ruled that forfeiture of earnest money may occur in public auctions 

even before a formal agreement is executed (line 18). Since earnest money serves as a guarantee of the bidder’s seriousness, 

forfeiture is permissible when the highest bidder withdraws before signing. Section 74 does not apply in such cases because 

no concluded contract exists, but auction rules permit forfeiture. Therefore, the government’s forfeiture of ₹5 lakhs is valid. 

Why the Others Are Incorrect: 

 A: Incorrect, because forfeiture does not require a formal contract in the case of public auctions (line 18). 

 C: Incorrect, the idea of capping forfeiture at proportion of work done is inapplicable to earnest money situations 

(line 18). 

 D: Incorrect, forfeiture is not limited to deducting administrative costs where auction rules allow full forfeiture (line 

18). 

 

Q70. Answer: A 

Correct Option Explanation (Difficulty: Medium): 

The distinction is well-settled: Section 73 provides for damages that “naturally arose or which the parties had knowledge of” 

(line 7), covering actual foreseeable losses. Section 74 applies where “a penalty or a pre-specified sum is specified” (line 13), 

but courts retain discretion to award only reasonable compensation up to the stipulated amount. Thus, Section 73 concerns 

actual damages, and Section 74 concerns stipulated damages subject to moderation. 

Why the Others Are Incorrect: 

 B: Incorrect, because Section 74 does not address remote damages at all; it only governs stipulated sums (line 13). 

 C: Incorrect, Section 73 does not mandate penalties; it requires proof of actual loss, unlike Section 74 which allows 

dispensation (line 7). 

 D: Incorrect, Sections 73 and 74 serve distinct purposes and cannot be used interchangeably (lines 7 and 13). 

 
Q71. The correct answer is C (Difficulty: Medium) 
Under Section 74, a stipulated sum is enforceable if it represents a bona fide pre-estimate of loss. Here, OD shows that 
tenants would have paid ₹10 lakh per month, which BC knew, so Clause 9 is not automatically penal. However, courts retain 
discretion to reduce LD if unreasonable or disproportionate, per Kailash Nath Associates v. DDA. 

 Why A is incorrect: Even if BC knew tenants’ expected ₹10 lakh rent, Section 74 requires judicial scrutiny of 
reasonableness. OD cannot simply enforce ₹30 lakh without the court assessing whether the stipulated LD is 
unconscionably high in comparison to actual loss. 

 Why B is incorrect: Section 73 allows recovery of actual loss, but the parties agreed to an LD clause under Section 
74, which takes precedence if it reflects a genuine estimate. The fact that actual leasing cost was ₹8 lakh per month 
does not render the ₹10 lakh clause void unless the court finds it punitive. 

 Why D is incorrect: Forfeiture of earnest money is governed by the contract’s terms. Clause 2 permitted forfeiture 
without a formal work order, so Section 74 can apply to earnest money if it is a pre-specified sum. OD is not limited 
to ₹24 lakh under Section 73 alone. 

1) Passage Overview & Reading Approach: This passage examines the doctrine of contractual damages in India, focusing 
on Sections 73 (general compensation) and 74 (liquidated damages/penalty) of the Indian Contract Act, 1872. It highlights 
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how Section 73 limits recovery to losses that naturally arise or were in parties’ contemplation, excluding remote 
consequences, while Section 74 enforces pre-specified sums subject to judicial reasonableness. Key cases—Fateh Chand v. 
Balkishan Dass and Kailash Nath Associates v. DDA—illustrate courts’ discretion to moderate extravagant penalties and 
uphold earnest-money forfeitures in auctions. When reading, underline each statutory provision, note its policy rationale, 
and map case-law applications to concrete fact patterns. Distinguish carefully between “foreseeability” under Section 73 
and “stipulation plus reasonableness” under Section 74. 
2) Question-by-Question Guidance 

 Q65 (Remoteness under § 73): Identify whether the lease bonus was a direct, foreseeable result of delayed delivery. 
Apply the “natural consequence” test. 

 Q66 (Special Knowledge under § 73): Focus on EnviroClean’s awareness of the subsidy condition at contract 
formation. Use the “what the breaching party knew” criterion. 

 Q67 (Liquidated Damages vs. Penalty under § 74): Ask whether the ₹1 crore/month clause is a genuine pre-
estimate or a penalty, then recall courts’ power to reduce excessive sums. 

 Q68 (Reasonableness – Fateh Chand): Test whether the original ₹50 000/day was “extravagant or unconscionable.” 
Apply the Supreme Court’s discretion to moderate. 

 Q69 (Earnest Money Forfeiture – Kailash Nath): Check if auction terms permitted forfeiture absent a formal 
agreement. Remember that public-auction rules override the need for a signed contract. 

 Q70 (§ 73 vs. § 74 Distinction): Contrast the scope of recoverable losses (“naturally arising or known”) with 
enforceable stipulations (“pre-specified sums plus reasonableness”).\ 

 Q71: The dispute revolves around whether a stipulated sum (₹10 lakh per month, claimed as ₹30 lakh total) under 
Clause 9 is enforceable as liquidated damages (LD) under Section 74 of the Contract Act, 1872. The tension is 
between enforcing the contractually agreed sum vs. judicial moderation if the clause is penal or disproportionate. 

3) Legal Principles from the Passage 
 Section 73 (General Compensation): Damages awarded only for losses that naturally arise from breach or which 

parties had knowledge of at formation; excludes indirect or remote losses. 
 Foreseeability Test: Liable only for consequences reasonably within the contemplation of both parties when 

contract was made. 
 Knowledge of Special Circumstances: If one party expressly informs the other of particular stakes, losses of that 

nature become recoverable. 
 Section 74 (Liquidated Damages/Penalty): Pre-specified sums in a contract become enforceable “compensation” 

without proof of actual loss, but courts must assess reasonableness. 
 Judicial Moderation (Fateh Chand): Courts possess discretion to reduce extravagant or unconscionable stipulated 

sums to amounts deemed reasonable. 
 Caps on Compensation: Recoverable amount under Section 74 cannot exceed the pre-specified sum; penalty 

clauses are not inherently void but subject to scrutiny. 
 Earnest-Money Forfeiture (Kailash Nath): In public-auction contexts, earnest money may be forfeited even before 

formal contract execution if auction terms allow. 
 Equity & Natural Justice: Courts lean on equitable principles to ensure compensation is fair and proportionate, 

avoiding punitive excess. 
 

Passage 4: 

Q72. Answer A (Difficulty: Medium) 

Correct Option Explanation: 

Under Chapter VI of the CPA 2019, manufacturers are strictly liable for defects arising from design or production errors 

(“production errors, design imperfections, insufficient instructions or alerts…”【passage line 21–24】). Here, the gasket’s 

improper design directly caused foreseeable physical harm. Because the injury was a direct result of a design imperfection—

one of the statutory bases of liability—the manufacturer bears primary responsibility for Ms. Rao’s injuries and related 

medical expenses. 

Why the Others Are Incorrect: 

 B: Retailers are liable only if they “exert significant control over the product or neglect to offer proper instructions 

or alerts”【passage line 33–36】. BrightHome Ltd. did not control design or instructions, so primary liability remains 

with the manufacturer. 

 C: Service providers are liable only when “their carelessness or non-compliance with legal norms causes injury”【

passage line 30–32】. No negligent servicing occurred here. 
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 D: “Protections and exemptions” apply only where the consumer misuses the product【passage line 39–42】. Ms. 

Rao used the blender normally, so contributory fault does not apply. 

 

Q73. Answer C (Difficulty: Hard) 

Correct Option Explanation: 

Chapter VI recognises liability for “inadequate instructions or warnings regarding the product’s safe use”【passage line 23–

24】. The manufacturer omitted any load-bearing guidance, a clear breach of its statutory duty. This failure caused property 

damage (marble floor, books), and since “harm” includes “damage to assets (excluding the defective item itself)”【passage 

line 27–28】, the manufacturer is directly accountable. 

Why the Others Are Incorrect: 

 A: Delivery services are not liable for instructional defects; liability flows from the product’s producer【passage line 

29–32】. 

 B: Retailers bear liability only where they control product information or warnings【passage line 33–36】. FurniCo 

did not alter or supplement the instructions. 

 D: Voluntary assembly does not negate liability, as the defect was informational, not user-created【passage line 

39–42]. 

 

Q74. Answer D (Difficulty: Medium-Hard) 

Correct Option Explanation: 

The CPA 2019 imposes liability on service providers where negligence in their services causes harm【passage line 30–32】. 

MediClean Services failed to calibrate the machine properly, causing incorrect readings and resulting emotional distress. 

“Harm” under the Act explicitly includes “psychological pain or emotional suffering”【passage line 27–28】. Thus, 

MediClean is liable. 

Why the Others Are Incorrect: 

 A: The manufacturer had supplied accurate specifications; no defect or failure of instructions is alleged【passage 

line 21–24】. 

 B: Sellers incur liability only for failing to provide instructions or exercising control over distribution【passage line 

33–36】. That did not occur here. 

 C: Clinics are not deemed liable unless they alter, misuse, or modify the product; here the loss arose from 

MediClean’s negligent servicing. 

 

Q75. Answer B (Difficulty: Hard) 

Correct Option Explanation: 

Vendors are liable where they provide “explicit guarantees” and control distribution【passage line 33–36】. TechVista Ltd. 

expressly guaranteed fire safety and provided inspections, creating reliance on its assurance. Since the charger’s fire 

contradicted the express guarantee, TechVista bears primary liability for property damage. 

Why the Others Are Incorrect: 

 A: While manufacturers are liable for production flaws, here the consumer’s purchase and reliance was on the 

vendor’s guarantee【passage line 33–36】. 

 C: The inspection service’s role is secondary; liability under Chapter VI primarily attaches to the guarantor-vendor. 

 D: Testing is not a defence against liability where explicit guarantees are breached【passage line 39–42】. 

 

Q76. Answer A (Difficulty: Easy-Medium) 

Correct Option Explanation: 

The CPA 2019 exempts manufacturers from liability where injuries are caused by “improper use or modification of the item 

by the user”【passage line 39–41】. Mr. Das replaced the safety valve with an unauthorised aftermarket part, contrary to 

warnings and free replacement offers. This modification directly caused the explosion, breaking the causal chain and 

absolving CookSafe Co. 
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Why the Others Are Incorrect: 

 B: Whether or not CookSafe retained proof of free valve offers is irrelevant; the proximate cause was Mr. Das’s 

modification【passage line 39–42】. 

 C: Emotional distress does not override statutory defences for improper use. 

 D: Damage beyond the product itself is compensable only if caused by a defect; here, the modification was the sole 

cause【passage line 39–42】. 

 

Q77. Answer B (Difficulty: Easy) 

Correct Option Explanation: 

“Harm” under the CPA 2019 covers “physical injury, damage to assets (excluding the defective item itself), and psychological 

pain or emotional suffering”【passage line 27–28】. However, the Act excludes financial or business losses【passage line 

28–29】. Thus, option B correctly summarises the statutory scope. 

Why the Others Are Incorrect: 

 A: Incorrect because harm extends beyond physical injury to include other property and psychological suffering【

passage line 27–28】. 

 C: Incorrect because the Act excludes financial/business losses【passage line 28–29】. 

 D: Incorrect because “harm” defines injury types, not defect categories【passage line 27–29】. 

Passage Brief 

The passage highlights product liability under Chapter VI of the Consumer Protection Act, 2019 (CPA 2019). It details the 

liabilities of manufacturers, sellers, and service providers, the statutory definition of “harm,” and the available exemptions. 

The central theme is the balancing of consumer protection with fair limits on liability. The Act adopts a comprehensive 

definition of harm (physical, property, psychological), while excluding financial/business losses. Importantly, it distinguishes 

manufacturing/design defects from service-provider negligence and seller liability in cases of explicit guarantees or 

control over instructions. 

Question Approach 

 Q72 (Ms. Rao’s blender injury): Focus on whether the harm arose from a design defect or misuse. Since the gasket 

failure was a defect, liability rests with the manufacturer. Always check if the user acted normally or modified the 

product (exemption check). 

 Q73 (Mr. Singh’s bookshelf collapse): Distinguish between manufacturer’s duty to provide adequate instructions 

and retailer/service-provider liability. The missing load-capacity guidance points to the manufacturer’s primary 

fault. 

 Q74 (MediClean machine miscalibration): Recognise when harm flows from service-provider negligence, not 

manufacturing defects. Emotional suffering counts as “harm,” so the service provider is liable. 

 Q75 (TechVista fire-safe charger): Spot the significance of an express vendor guarantee. Even if the defect 

originated in production, liability shifts to the vendor who made and controlled the guarantee. 

 Q76 (Mr. Das’s pressure cooker): Always test for defences under exemptions. Here, user modification is explicitly 

exempted under CPA 2019, cutting off liability. 

 Q77 (Definition of harm): Recall the statutory limits: physical injury, property damage, and psychological suffering 

are covered; financial/business losses are excluded. 

Legal Principles Derived 

1. Strict Liability of Manufacturers: Manufacturers are primarily liable for design flaws, production errors, and 

inadequate warnings (CPA 2019, Chapter VI). 

2. Service Provider Negligence: Service providers incur liability when negligence in service provision causes harm — 

including psychological injury. 

3. Seller Liability: Sellers become liable when they exercise control over distribution or make explicit guarantees that 

are breached. 

4. Scope of Harm: “Harm” includes physical injury, property damage (beyond the product), and emotional suffering, 

but excludes business/financial loss. 
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5. Exemptions/Defences: Producers are not liable for improper use or modification by consumers, or where adequate 

instructions/cautions were provided. 

6. Sanctions: Consumer fora and the CCPA may order compensation, product recall, or penalties, reinforcing the Act’s 

consumer-protective thrust. 

 

Q.78 

Correct Answer: A (Difficulty: Medium) 

Nova can recover damages because PS’s remarks were false, widely published, and negligently made. The passage states 

that “Plaintiffs need to establish their legal standing to define exactly how much responsibility must be shown by the 

defendant. Well-known plaintiffs need to show … malice … Private individuals need to show only negligence” (lines 21–24). 

Nova, though a listed company, qualifies as a private plaintiff for this standard, so negligence suffices. PS’s reliance on rumors 

without verification satisfies negligence. 

 Why B is incorrect: Limiting recovery to ₹2 crore ignores that reputational harm is compensable even without 

precise proof of loss (lines 15–20). 

 Why C is incorrect: The passage clarifies that “defamation is a civil wrong (tort)” and corporations may sue when 

reputation is harmed (line 1). 

 Why D is incorrect: While Nova is treated as a private plaintiff (lines 21–24), this option understates that the correct 

recovery is not capped solely at documented loss. 

 

Q.79 

Correct Answer: C (Difficulty: Medium–Hard) 

Mehta may recover damages once falsity is proved, because Reddy’s video is libel. The passage defines libel as “transmission 

of permanently published material … toxic information in all media formats, including … internet articles” (lines 26–32). 

Reddy published a permanent online video and failed to verify facts, which constitutes negligence (lines 21–24). 

 Why A is incorrect: Courts require proportionality; awarding ₹2 crore without proof of such loss may not stand (lines 

15–20). 

 Why B is incorrect: General damages for reputation do not need specific monetary proof (lines 15–20). 

 Why D is incorrect: The defense of fair comment fails if the factual basis is false; the passage emphasizes falsity 

negates protection (lines 6–11). 

 

Q.80 

Correct Answer: D (Difficulty: Hard) 

Dr. Singh qualifies as a limited public figure. The passage specifies: “Well-known plaintiffs need to show … malice … defendant 

knew claims were untrue or took their statements with reckless disregard” (lines 21–24). As a scientist with public 

prominence, Singh must prove actual malice. Verma’s negligence in failing to verify is insufficient; without proof of reckless 

disregard, only nominal damages may be awarded. 

 Why A is incorrect: Negligence is not enough for public figures; actual malice is required (lines 21–24). 

 Why B is incorrect: Fair comment cannot protect false or reckless claims (lines 6–11). 

 Why C is incorrect: Reliance on confidential sources does not excuse failure to meet the heightened malice standard 

(lines 21–24). 

 

Q.81 

Correct Answer: B (Difficulty: Medium–Hard) 

The passage clearly states that libel is written/broadcast publication—“print publications, television broadcasts, electronic 

postings” whose enduring nature causes lasting reputational harm and “the law gives greater weight to libel” (L26–L32). 

Slander is temporary, arising from spoken statements in conversations that “evaporate quickly,” so plaintiffs must show 

genuine damage (L33–L37). Option B correctly distinguishes libel’s permanence from slander’s transience and allows 

recovery beyond merely quantifiable losses. 

 Why A is incorrect: It reverses the definitions of libel and slander set out at (L26–L37). 
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 Why C is incorrect: It misdefines libel by repetition rather than permanence/medium; the passage anchors libel to 

enduring written/broadcast forms (L26–L32). 

 Why D is incorrect: There is no requirement that libel plaintiffs first prove economic loss; the general elements 

focus on falsity/publication/harm/fault (L15–L20), and the special “genuine damage” requirement is tied to 

slander’s ephemerality (L33–L37), not libel. 

 

Q.82 (Passage-Based) 

Correct Answer: B (Difficulty: Easy–Medium) 

The passage clearly states: “Libel … written content … print publications, television broadcasts, electronic postings … enduring 

damage … law gives greater weight to libel” (lines 26–32). Slander is “temporary … spoken statements … conversations 

evaporate quickly” (lines 33–37). Option B accurately distinguishes permanence vs. transience. 

 Why A is incorrect: Reverses definitions. 

 Why C is incorrect: Incorrectly defines libel by repetition rather than permanence. 

 Why D is incorrect: No requirement that libel prove economic loss first (lines 15–20). 

 

Q.83 (Passage-Based) 

Correct Answer: B (Difficulty: Medium) 

The passage notes: “Well-known plaintiffs need to show … malice … Private individuals need to show only negligence” (lines 

21–24). Hence private plaintiffs succeed on negligence, while public figures must prove malice. 

 Why A is incorrect: This is the public figure standard (lines 21–24). 

 Why C is incorrect: The passage explicitly mentions negligence, not gross negligence. 

 Why D is incorrect: Burden is on plaintiff to prove negligence, not to negate reliance (lines 21–24). 

 

Q.84 

Correct Answer: B (Difficulty: Medium–Hard) 

Radio broadcasts fall under libel, not slander, because they are permanent media: “Libel … includes … television broadcasts, 

electronic postings” (lines 26–32). Since Desai is a private individual, negligence suffices (lines 21–24). The misreading of a 

press note without verifying identity shows negligence. 

 Why A is incorrect: Radio is libel, not slander (lines 26–32). 

 Why C is incorrect: Even if corrected quickly, reputational harm and suspension occurred, justifying more than 

nominal damages (lines 15–20). 

 Why D is incorrect: Reasonable care requires verifying identity; failing this is negligence (lines 21–24). 

Passage Brief 

The passage outlines the elements of defamation under the CPA 2019’s broader legal framework of tort and common law 

principles. It distinguishes between libel (permanent forms: print, television, online, radio) and slander (temporary spoken 

statements). Three legal elements emerge: (i) a false factual statement (line 4), (ii) publication to at least one third party (line 

12), and (iii) harm to reputation (line 18). The passage then differentiates liability standards: private individuals must prove 

negligence (line 22), while public officials and public figures must prove actual malice—knowledge of falsity or reckless 

disregard for truth (line 24). Finally, it specifies that truth is a defense (line 4) and defines “harm” as including reputational 

damage, emotional suffering, and property loss, but excluding business or financial losses. 

Question Approach 

 Fact-based questions (Q78–Q81, Q84): The key is to classify the plaintiff (private individual, limited public figure, 

or public official) and apply the correct liability threshold (negligence or actual malice). Then identify whether the 

harm alleged (reputational, economic, emotional) is compensable under the statute. 

 Passage-based direct questions (Q82–Q83): These test definitional distinctions (libel vs. slander) and the allocation 

of burdens (negligence vs. malice). Test-takers should focus on the exact language of the lines provided in the 

passage, not on outside general knowledge. 

 Trick element: Many options try to conflate economic losses with reputational harm, or confuse negligence with 

actual malice. Careful reading of lines 18, 22, and 24 is critical to avoid being misled. 
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Legal Principles Derived 

1. Definitional Principle: Libel = permanent form (line 32), Slander = temporary oral form (line 40). 

2. Falsehood Requirement: A statement must be false to be defamatory; truth is a complete defense (line 4). 

3. Publication Requirement: Communication to even one third party is sufficient (line 12). 

4. Harm Element: Harm includes reputational damage, emotional suffering, and property damage, but excludes 

business losses (line 18). 

5. Standard of Fault: 

o Private individuals: Negligence suffices (line 22). 

o Public figures/officials: Must prove actual malice (knowledge of falsity or reckless disregard: line 24). 

6. Damages Principle: General damages are available for reputational harm even without economic loss; specific 

damages require proportional proof. 

 

Passage 1: 

Q.85 

Correct Answer: A 

Difficulty: Easy 

Why A is correct: The passage opens by stating that “Colossal Biosciences is an American company … combining genomics 

with conservation — not in its traditional form, but through de-extinction … The stated logic is to combat global warming” 

(lines 1–7). This directly aligns with option A, which frames de-extinction (e.g., reviving the woolly mammoth) as a climate 

strategy rooted in ecosystem restoration. 

 Why B is incorrect: The mammoth was chosen for its ecological role in tundra grasslands, not because its genome 

is the “easiest” to reconstruct. 

 Why C is incorrect: The passage never claims cloning without hybridization is the central premise; it explicitly 

mentions hybrid embryos using elephants (lines 21–25). 

 Why D is incorrect: The passage does not say de-extinction will automatically restore ecosystems; in fact, it cautions 

that grasslands “cannot stop warming” (line 17). 

 

Q.86 

Correct Answer: B 

Difficulty: Medium 

Why B is correct: The passage notes that “spending millions of dollars on speculative projects … takes away resources from 

immediate conservation efforts” (lines 39–45). This supports the inference that, while technologically impressive, de-

extinction diverts resources from urgent conservation of extant species. 

 Why A is incorrect: The passage never dismisses the work as a “marketing stunt”; it recognizes Colossal’s genuine 

scientific achievement (lines 33–38). 

 Why C is incorrect: The passage stresses that even grasslands “cannot stop warming” (line 17), so reversal of climate 

change is not guaranteed. 

 Why D is incorrect: The text contrasts de-extinction with immediate conservation; it does not suggest traditional 

methods are obsolete. 

 

Q.87 

Correct Answer: D 

Difficulty: Hard 

Why D is correct: The concluding lines state: “Colossal may be credited for its genomics work, but the claim that it is reviving 

species for conservation is not credible … takes away resources from immediate conservation efforts” (lines 38–45). Thus, 

the strongest conclusion is that despite impressive technology, de-extinction misdirects resources from urgent needs. 

 Why A is incorrect: The passage clearly rejects de-extinction as a replacement for traditional conservation. 

 Why B is incorrect: The text never calls revival “inevitable” nor predicts tundra stability. 
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 Why C is incorrect: Editing 20 genes in a wolf or mammoth hybrid does not prove environmental efficacy (lines 27–

33). 

 

Q.88 

Correct Answer: C 

Difficulty: Hard 

Why C is correct: If it were shown that de-extinction has produced no measurable environmental benefits and that direct 

investments in habitat preservation yield far more immediate results, this would directly weaken the idea that de-extinction 

is a “beneficial conservation strategy.” This matches the passage’s criticism (lines 39–45). 

 Why A is incorrect: This only narrows the effectiveness of grassland restoration but doesn’t disprove broader 

environmental benefits. 

 Why B is incorrect: High costs alone don’t address whether de-extinction is scientifically or ecologically effective. 

 Why D is incorrect: Public enthusiasm declining is relevant to support, not to whether de-extinction is an effective 

conservation strategy. 

 

Q.89 

Correct Answer: B 

Difficulty: Medium 

Why B is correct: Critics assume that financial and intellectual resources are scarce, and that using them for speculative de-

extinction is less effective than addressing immediate threats like habitat loss (lines 39–45). Without this assumption, their 

argument about misallocation of resources collapses. 

 Why A is incorrect: While funding scarcity matters, the effectiveness of alternate uses (conservation of extant 

species) is the sharper assumption. 

 Why C is incorrect: This would actually justify de-extinction, not undercut it. 

 Why D is incorrect: The passage does not rely on predictions of regulatory mandates to make its critique. 

 

Q.90 

Correct Answer: A 

Difficulty: Hard 

Why A is correct: The paradox lies in Colossal’s initiative: a cutting-edge project meant to combat climate change and 

conserve ecosystems may actually undermine conservation by diverting urgent resources from extant species (lines 38–45). 

This contradiction captures the tension between scientific progress and conservation priorities. 

 Why B is incorrect: Ethical concerns exist (e.g., He Jiankui comparison), but they aren’t framed as the paradox of 

resource diversion. 

 Why C is incorrect: The passage does not frame habitat destruction vs. de-extinction as a paradox, but rather as a 

limitation. 

 Why D is incorrect: While surrogate elephants raise dilemmas, the core paradox highlighted is about conservation 

misalignment, not evolutionary processes. 

Brief Passage Explanation (4–5 Lines) 

The passage discusses Colossal Biosciences, an American company that aims to combine genomics with conservation 

through de-extinction, most notably by resurrecting the woolly mammoth. Led by Harvard geneticist George Church, the 

project is driven by the idea that restoring ancient species can help re-establish lost ecosystems—grasslands that may slow 

climate change. However, the passage questions the credibility and cost-effectiveness of de-extinction projects, arguing that 

funds might be better spent on urgent conservation of current endangered species. It also draws attention to the speculative 

nature of the technology, suggesting that its benefits will only be realized over centuries, if at all. 

Approach to Reading the Passage 

When reading this passage, focus on the following: 

 Theme Identification: Note the central idea of using genetic technology for de-extinction as an unconventional 

conservation method. 
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 Main Ideas: Understand the rationale behind resurrecting species (e.g., ecological benefits such as restoring 

grasslands) and the accompanying criticisms regarding resource allocation and feasibility. 

 Difficulty & Nuance: Pay attention to the contrasting perspectives—the technological achievements versus the 

practical conservation challenges—and the nuanced discussion of opportunity costs. 

 Critical Analysis: Identify key arguments, counterarguments, and the underlying assumptions about the role and 

priorities in conservation efforts. 

Per-Question Approach and Explanation 

1. Question 85 (Premises): Approach: Identify a statement that is directly stated in the passage, not inferred or 

implied. 

Tip: Look for the part where the company’s aims and rationale for de-extinction are clearly described. 

2. Question 86 (Inferences): Approach: Determine what must be true based on the passage’s arguments, especially 

focusing on the resource and conservation debates. Tip: Focus on the benefits versus criticisms discussion and the 

trade-off mentioned. 

3. Question 87 (Conclusions): Approach: Select a conclusion that logically follows from the overall arguments 

presented—specifically the criticism regarding resource misallocation. Tip: Reflect on the end-of-passage 

commentary which emphasizes diversion of resources. 

4. Question 88 (Argument Evaluation – Weaken): Approach: Look for evidence that would undermine the idea that 

de-extinction is beneficial, particularly evidence that challenges its environmental efficacy. Tip: Consider which piece 

of evidence would most directly show that immediate, direct conservation methods are more effective. 

5. Question 89 (Assumptions): Approach: Identify the core assumption underlying the critics’ argument that 

de-extinction diverts resources from urgent conservation. Tip: Focus on resource limitation and the opportunity cost 

inherent in funding long-term projects. 

6. Question 90 (Paradox): Approach: Look for the inherent contradiction between advancing high-tech solutions for 

conservation and the risk of neglecting immediate conservation needs. Tip: Examine how the project is lauded for 

its technological prowess yet criticized for misdirecting attention and funds. 

Elaborate Brief of Critical Reasoning Elements 

Premises: 

 Colossal Biosciences’ goal is to use genomics for conservation through de-extinction (resurrecting species such as 

the woolly mammoth) with an aim to combat global warming. 

 The rationale is that during the Ice Ages, species like the mammoth sustained grassland ecosystems that limited 

warming, and reviving them could potentially restore these ecosystems. 

 The passage explicitly mentions that resources are being diverted from the urgent conservation of extant species. 

Inferences: 

 Although the de-extinction projects show technological progress, they might not be the best strategy for immediate 

environmental protection due to high costs and long time frames. 

 The project’s resource allocation implies a potential trade-off: investing in speculative, long-term benefits versus 

addressing immediate threats to species and ecosystems. 

 Critics infer that de-extinction, despite its scientific achievements, is less practical when compared with direct 

conservation measures. 

Conclusions: 

 The passage concludes that despite the impressive genomics work, de-extinction projects like those undertaken by 

Colossal Biosciences are misguided from a conservation perspective. 

 The ultimate conclusion is that investing in de-extinction diverts crucial resources from immediate conservation 

efforts required to protect currently endangered species. 

Arguments (and Argument Evaluations): 

 Pro-De-extinction Argument: Some scientists believe that restoring species like the woolly mammoth could reverse 

ecosystem changes (e.g., restoring grasslands). 

 Counterargument/Criticism: Critics argue that the technological advances are impressive but that the financial and 

practical benefits will take centuries to materialize, detracting from critical short-term conservation efforts. 
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 When evaluating these arguments, evidence that de-extinction does not produce measurable environmental 

benefits would weaken the benefit side of the argument. 

Assumptions: 

 The critics’ argument rests on the assumption that resources for conservation are limited and that money used for 

speculative de-extinction could instead save extant species. 

 It is assumed that immediate conservation efforts (addressing habitat loss and species endangerment) are of higher 

priority than long-term, speculative projects that may not yield timely benefits. 

 The underlying assumption is that there is an opportunity cost involved—i.e., investing in high-tech gene-editing 

projects might detract from more practical and urgent conservation measures. 

Paradoxes: 

 The paradox presented is that an advanced, state-of-the-art de-extinction project intended to help alleviate climate 

change by restoring ancient ecosystems might ultimately undermine conservation efforts by shifting resources away 

from protecting species that are currently endangered. 

 There is an inherent contradiction: employing cutting-edge genomic technology for de-extinction appears to be a 

modern scientific marvel, yet it risks deprioritizing urgent, proven conservation methods. 

 This reflects a broader paradox in environmental policy: the allure of futuristic technological solutions may 

overshadow, and even detract from, immediate and necessary conservation actions. 

 

Passage 2: 

Q.91 

Correct Answer: B 

Difficulty: Easy 

Why B is correct: The passage explicitly narrates: “Every evening the young Fisherman went out upon the sea, and threw his 

nets into the water … until one evening the net was so heavy … but only a little Mermaid lying fast asleep” (lines 1–14, 27–

29). This directly corresponds to option B, which simply restates the sequence of his daily routine and the surprising catch. 

 Why A is incorrect: Though he muses about impressing the Queen (“some dull monster … the great Queen will 

desire”), this is speculation, not a premise. 

 Why C is incorrect: Suggests a pattern of mythical beings in his routine, whereas the passage frames it as a single 

extraordinary exception. 

 Why D is incorrect: This is interpretive — focusing on the Fisherman’s imagination — rather than an explicitly stated 

premise. 

 

Q.92 

Correct Answer: C 

Difficulty: Medium 

Why C is correct: The extraordinary heaviness of the net, yielding not fish but a mermaid, supports the inference that the 

most routine activities can produce extraordinary outcomes. This is implied when his habitual fishing unexpectedly delivers 

a mythical creature (lines 11–29). 

 Why A is incorrect: His life is not wholly monotonous — the mermaid’s capture shows unpredictability. 

 Why B is incorrect: The heavy net doesn’t symbolize “ordinary abundance” — it signals an unusual burden. 

 Why D is incorrect: Overstates — mythical catches are not common, but singular. 

 

Q.93 

Correct Answer: D 

Difficulty: Hard 

Why D is correct: The Fisherman restrains the mermaid and demands: “I will not let thee go save thou makest me a promise 

… that thou wilt come and sing to me … so shall my nets be full” (lines 21–27). This shows he treats her as a means to profit, 

prioritizing gain over liberty — exploitation of an extraordinary being. 

 Why A is incorrect: He shows no regret; instead, he presses his demand. 
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 Why B is incorrect: The text illustrates a mythical encounter but does not “validate” maritime lore. 

 Why C is incorrect: The passage does not generalize about sea peril; it focuses on his self-interest. 

 

Q.94 

Correct Answer: A 

Difficulty: Hard 

Why A is correct: If mermaids cannot produce melodious song recognizable by humans, then the Fisherman’s demand 

collapses — his entire rationale for holding her rests on the belief that her song attracts fish. This directly undercuts his 

argument (lines 21–27). 

 Why B is incorrect: Escaping tendencies don’t weaken the logic of his demand. 

 Why C is incorrect: Saying songs “fail to attract fish” challenges effectiveness but doesn’t disprove the assumption 

of their capacity to sing. 

 Why D is incorrect: Seafarers’ opinions don’t bear on the validity of his claim. 

 

Q.95 

Correct Answer: C 

Difficulty: Medium 

Why C is correct: His bargain assumes that his livelihood depends on magical intervention: that the mermaid’s song will fill 

his nets and justify detaining her (lines 21–27). Without this, there’s no basis for demanding her promise. 

 Why A is incorrect: Language comprehension matters but is secondary — the key is the utility of the bargain. 

 Why B is incorrect: Suggests her singing is “valuable” but doesn’t emphasize its necessity for his livelihood. 

 Why D is incorrect: Implies a broad mythical obligation — not suggested by the text. 

 

Q.96 

Correct Answer: B 

Difficulty: Hard 

Why B is correct: He fantasized about catching a “monster … that the great Queen will desire” (lines 15–18). Instead, he nets 

a mermaid — wondrous in beauty but pitiable in her vulnerability, which clashes with his expectation of awe-inspiring 

marvels. This tension between expectation and reality embodies the paradox. 

 Why A is incorrect: Captures ordinary vs. extraordinary, but too general — doesn’t address his personal 

expectations. 

 Why C is incorrect: Focuses solely on exploitation, missing the twist between his dream and the reality. 

 Why D is incorrect: Centers on disrespect, but not on the contradiction between his hoped-for marvel and actual 

pitiable beauty. 

Passage Explanation and Reading Approach 

Brief Explanation of the Passage (4–5 Lines): The passage narrates a mythical encounter where a young Fisherman, following 

his usual routine, casts his net into the sea. One evening, instead of the anticipated catch of fish or a monstrous wonder, he 

finds a beautiful little Mermaid asleep in his net. Upon awakening, the mermaid pleads for freedom, revealing her noble 

lineage, but the Fisherman, driven by self-interest, demands that she sing for him in exchange for her release. The story 

blends elements of fantasy and exploitation, reflecting themes of ambition, wonder, and moral ambiguity. 

Approach to Reading the Passage: 

 Identify the Theme: Focus on the contrast between the ordinary and the extraordinary—how a routine fishing 

expedition transforms into a mythic encounter. 

 Comprehend the Main Idea: Understand that the core idea revolves around an unexpected event that exposes the 

Fisherman’s self-serving nature despite the marvel of his catch. 

 Recognize the Tone and Difficulty: Note the poetic language and vivid imagery, which demand careful attention to 

detail and nuanced interpretation. 

 Focus on Specific Details: Look for descriptions that highlight character motivations and pivotal moments (e.g., the 

negotiation between the Fisherman and the mermaid). 
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Question-by-Question Approach and Explanation (1–3 Lines per Question) 

1. Question 91 (Premises): Approach: Identify the sentence or statement that is directly given in the passage (the 

factual routine and the unexpected catch). Tip: Refer to the part where the net’s heaviness and the actual catch (the 

mermaid) are described verbatim. 

2. Question 92 (Inferences): Approach: Draw a logical conclusion that goes beyond the text but is strongly suggested 

by the unexpected turn of events in a routine activity. Tip: Note that the heavy net leading to a mythical catch implies 

that extraordinary events can emerge unpredictably from the mundane. 

3. Question 93 (Conclusions): Approach: Select the conclusion that encapsulates the overall moral or outcome of the 

encounter—namely, the Fisherman’s exploitative behavior. Tip: Consider the Fisherman’s decision to hold the 

mermaid and demand her song, which points to his selfish priorities. 

4. Question 94 (Argument Evaluation – Weaken): Approach: Choose an option that undermines the justification for 

the Fisherman’s insistence on the mermaid’s song by challenging the underlying premise of her ability or the value 

of her song. Tip: Focus on evidence that would render his demand logically unsound (for instance, proving that 

mermaids cannot produce a melodious song). 

5. Question 95 (Assumptions): Approach: Identify the key assumption that must be true for the Fisherman’s argument 

to hold—namely, that his livelihood benefits significantly from the mermaid’s song. Tip: Look for the hidden premise 

that the success of his fishing depends on the magical intervention of her singing. 

6. Question 96 (Paradox): Approach: Look for the option that captures the inherent contradiction in the Fisherman’s 

expectations versus the actual outcome of his catch. Tip: Consider how his lofty expectations and self-serving 

demands clash with the reality of the beautiful yet vulnerable mermaid he has captured. 

Elaborate Brief: Critical Reasoning Elements in the Passage 

Premises: 

 The passage explicitly states that the young Fisherman goes out every evening, casts his nets, and normally catches 

fish when the wind favors him. 

 It then describes one evening when his net is unusually heavy, and after much effort, he discovers that the heavy 

catch is not fish or a monstrous wonder but a sleeping little Mermaid. 

Inferences: 

 The unexpected heaviness of the net leading to the capture of a mermaid implies that extraordinary, mythical events 

may occur even in ordinary, routine activities. 

 One can infer that such unexpected events disrupt the predictable patterns of daily life, hinting that the world holds 

marvels beyond the mundane. 

Conclusions: 

 The passage leads to the conclusion that the Fisherman exploits the extraordinary encounter—he holds the 

mermaid captive, bargaining for her song, thereby prioritizing his personal gain over her freedom. 

 It concludes that the Fisherman’s actions are self-serving and reflect a moral ambiguity or exploitation inherent in 

his character. 

Arguments: 

 For the Encounter’s Significance: The narrative implies that an ordinary fishing trip can yield a mythic, exceptional 

catch, challenging the boundary between myth and reality. 

 Counterargument/Criticism: The Fisherman’s subsequent demand for the mermaid’s song, despite her noble 

origins and vulnerability, highlights the argument that human ambition or greed can exploit even magical or 

wondrous events. 

Assumptions: 

 The Fisherman’s argument—that he deserves the mermaid’s promise to sing for him—assumes that her song has 

an inherent, even supernatural, value capable of enhancing his fishing success. 

 It is assumed that the mermaid is both capable of fulfilling this demand (i.e., she possesses a melodious voice) and 

that such a song would indeed attract fish, thereby justifying his exploitation. 

Paradoxes: 



2026 

© Nishant Prakash Law Classes – Gurukul for CLAT & AILET 
33 

 The central paradox lies in the contrast between the Fisherman’s initial awe and wonder upon encountering a 

mythical being and his subsequent exploitative behavior that reduces her extraordinary nature to a mere bargaining 

chip for personal profit. 

 There is also an inherent contradiction in his expectation of capturing either a monstrous marvel or all the fish, yet 

ending up with a vulnerable, enchanting being—highlighting the collision between his grand aspirations and the 

reality of his actions. 

 

Passage 3:  

Q97. Correct Answer: D (Difficulty: Medium) 

Explanation: Option D is correct because the passage explicitly states that “Instagram collapsed that distance. Now, it’s not 

celebrities selling the dream; it’s the girl you went to high school with …” (lines 15–16). This is a directly stated premise: 

Instagram has collapsed the traditional distance between aspirational luxury and everyday life by making curated lifestyles 

feel personal and accessible. 

 A is incorrect because while line 14 does describe traditional luxury marketing as “built on distance,” the passage 

doesn’t claim this was solely via glossy ads and runways. 

 B is wrong because the text emphasizes non-celebrities (lines 15–16), not celebrity endorsements. 

 C is incorrect because the passage highlights belonging and self-worth (lines 6, 20–22), not social mobility. 

 

Q98. Correct Answer: A (Difficulty Level: Medium) 

Explanation: Option A is correct because it reasonably infers from lines 15–16 (“Instagram collapsed that distance … enviable 

and attainable”) that social media transforms formerly distant luxury into something that appears personally attainable 

through relatable figures. 

 B is unsupported — nowhere does the passage say consumers are less critical of price. 

 C is far too sweeping: the text never claims everyone will attain luxury. 

 D is extreme; the passage never claims traditional advertising is obsolete. 

 

Q99. Correct Answer: B (Difficulty: Hard)  

Explanation: Option B best captures the passage’s conclusion: the influencer economy succeeds because it transforms 

aspiration into a personal experience built on trust. This is shown in line 18 (“replaces cold corporate persuasion with … 

Trust”) and lines 20–21 (“A $500 Dyson Airwrap … an investment in self-worth”). 

 A is exaggerated; traditional ads aren’t declared “completely ineffective.” 

 C mischaracterizes the argument — products are linked to aspiration, not practicality. 

 D is false; the passage stresses Instagram’s transformative effect on brand strategy (lines 23–26). 

 

Q100. Correct Answer: C (Difficulty: Medium) 

Explanation: Option C strongly strengthens the argument. Line 25 notes that companies prioritize “engagement metrics over 

follower counts.” If research confirms engagement metrics (likes, comments, shares) correlate directly with purchases, this 

would empirically prove influencer marketing is more effective than traditional broad advertising. 

 A notes preference trends but doesn’t link to purchase outcomes. 

 B mentions engagement but doesn’t show sales conversion. 

 D is a positive outcome but doesn’t explain why influencer marketing works.  

 

Q101.Correct Answer: D (Difficulty: Hard) 

Explanation: The key assumption is that consumers believe peer-like recommendations make luxury lifestyles seem within 

reach. Line 19 states: “When a friend — or someone who feels like one — recommends a product, the line between marketing 

and reality disappears.” The assumption behind this is that relatability transforms aspiration into perceived attainability. 

 A is too broad; the argument doesn’t require trust in all social media. 

 B touches on appeal but doesn’t capture the peer-connection angle. 

 C is close, but D more precisely reflects the reasoning: peer-like trust is central. 
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Q102. Correct Answer: A (Difficulty: Medium) 

Explanation: The paradox lies in influencer marketing presenting itself as authentic and personal while actually being a 

calculated commercial strategy. Line 18 highlights the “trust” dimension, while lines 25–26 describe influencers as “business 

assets … selected … to convert visibility into sales.” The contradiction between authenticity and commodification is the 

paradox. 

 B talks about exclusivity but misses the authenticity–commerce tension. 

 C shifts to social pressures, which is not the paradox emphasized here. 

 D notes corporate interests but doesn’t capture the clash between “genuine” relatability and underlying strategic 

commodification. 

Passage Explanation and Reading Approach 

Brief Explanation of the Passage (4–5 Lines): The passage examines how modern influencer marketing on platforms like 

Instagram has transformed traditional luxury advertising. It explains that what once appeared as distant, aspirational 

luxury—promoted by celebrities and glossy ads—has become intimate and attainable through everyday influencers. By 

personalizing the pursuit of desire and blending commerce with authenticity, this strategy not only sells expensive products 

but also creates a sense of belonging. The text highlights that consumer behavior is now driven more by trust and personal 

connection than by conventional advertising channels. 

Approach to Reading the Passage: 

 Identify the Theme: Focus on the transformation of luxury marketing—from distant and elite to personal and 

accessible—as the central idea. 

 Understand the Main Idea: Note how Instagram and influencer culture blur the line between genuine 

recommendations and strategic marketing, making aspirational lifestyles seem within reach. 

 Recognize the Tone and Difficulty: Be prepared for sophisticated language, vivid descriptions, and comparisons 

(such as “the reverence of an archaeologist”); these create a layered argument that requires careful reading. 

 Highlight Key Details: Pay close attention to the examples (the skincare fridge, running shoes, tablets) and the shift 

from traditional advertisement to personal recommendation, as these support the core argument. 

Per-Question Approach and Explanation 

1. Question on Premises: Approach: Find the statement in the passage that is clearly and explicitly stated as a fact or 

observation. Tip: Look for the description of Instagram’s impact on luxury marketing—how it makes curated 

lifestyles seem personal and attainable. 

2. Question on Inferences: Approach: Draw a logical conclusion that is not directly stated but is strongly implied by 

the examples provided. Tip: Consider how the transformation of product promotion from far-off aspiration to 

personal recommendation suggests that consumer behavior has changed. 

3. Question on Conclusions: Approach: Determine the overall conclusion that the passage supports regarding the 

success of influencer marketing. Tip: Reflect on how the passage argues that the personal touch and trust in 

influencer endorsements are the keys to converting visibility into sales. 

4. Question on Strengthening Arguments: Approach: Identify evidence or statements that would bolster the claim 

that influencer marketing is more effective than traditional advertising. Tip: Focus on details that link engagement 

metrics (likes, shares) to actual purchase behavior, thereby reinforcing the argument. 

5. Question on Assumptions: Approach: Pinpoint the hidden or underlying assumption that must be true for the 

argument to work. Tip: Focus on the idea that a consumer’s trust in influencers makes expensive products appear 

attainable, which is critical to the influencer economy’s success. 

6. Question on Paradoxes: Approach: Capture the inherent contradiction in the passage regarding how something that 

appears deeply personal and authentic is, in fact, a carefully engineered marketing strategy. 

Tip: Notice how the passage juxtaposes the warmth of personal connection with the calculated nature of 

commercial persuasion. 

Elaborate Brief of Critical Reasoning Elements 

Premises: 
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 The passage explicitly states that Instagram has transformed luxury marketing by collapsing the traditional distance 

between unattainable aspirations (such as those portrayed in glossy ads and high-fashion runways) and the everyday 

experience. 

 It describes how influencers—rather than distant celebrities—now make luxury products appear both relatable and 

attainable. 

Inferences: 

 One can infer that modern consumer behavior is driven by personal connection and trust, making the desire for 

luxury products a more immediate, personalized experience. 

 The passage implies that the appeal of luxury is no longer based solely on its exclusivity, but on the perception of 

having access to it through influencers. 

Conclusions: 

 The main conclusion is that the influencer economy has succeeded by converting personal trust and curated 

lifestyles into tangible consumer behavior, thereby driving multi-billion-dollar sales. 

 It concludes that digital platforms have fundamentally altered marketing strategies, merging aspirational imagery 

with personalized recommendations. 

Arguments (and Strengthening/Weaken Evaluations): 

 Primary Argument: Influencer marketing is more effective than traditional advertising because it creates a personal 

connection that encourages consumers to view expensive products as attainable investments in their self-worth. 

 Strengthening the Argument: Evidence showing a high correlation between social media engagement (e.g., likes, 

shares, comments) and actual purchase behavior strengthens the argument that personalized influencer 

interactions drive sales more effectively than impersonal ads. 

 Counterarguments: Some might argue that traditional advertising still holds value, but the passage emphasizes the 

changing dynamics of consumer trust and the immediacy of social media influence. 

Assumptions: 

 It is assumed that consumers are more likely to act on recommendations from individuals they perceive as peers or 

friends rather than from distant celebrities or generic ads. 

 The argument assumes that the perceived authenticity of influencer endorsements plays a crucial role in making 

luxury products seem more within reach and desirable. 

Paradoxes: 

 The core paradox is that while influencer marketing is presented as a genuine, personalized form of communication, 

it is ultimately a sophisticated, strategic method designed to commodify personal aspiration and drive consumer 

sales. 

 This duality—between the appearance of authentic connection and its underlying commercial motivation—

highlights a tension at the heart of modern advertising practices. 

 

Passage 4:  

Q103. Correct Answer: B (Difficulty: Easy) 

Explanation: Option B is correct because the passage explicitly states that “there was also a lot of art that met the moment, 

that made us feel something more acutely … and those that will stand the test of time” (lines 1–3). Immediately after, the 

author cites Bo Burnham: Inside as a “masterpiece” (line 5). This establishes a clear premise that while much pandemic art 

was forgettable, some works authentically captured the era and will endure. 

 A is incorrect: Although line 1 mentions “a lot of art … best forgotten,” the passage does not assert that most art is 

destined for irrelevance, nor does it frame this as the sole premise. 

 C is incorrect: The passage never claims every work is a historical document; rather, it draws a sharp contrast 

between forgettable and enduring art. 

 D is incorrect: The author does not characterize pandemic art as “mainly a distraction” from crises; instead, it is 

described as a balm and reflection (lines 2–3). 

 

Q104. Correct Answer: C (Difficulty: Medium) 
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Explanation: Option C is correct because the passage highlights the Sondheim tribute, which was “initially beset with 

technical difficulties” (line 19) but ultimately described as “the best” with standout performances (lines 20–26). This supports 

the inference that despite challenges, some pandemic productions transcended obstacles to deliver lasting artistic impact. 

 A is incorrect: The passage does not state the majority of art was “low quality”; it acknowledges both forgettable 

and enduring works (lines 1–3). 

 B is incorrect: While difficulties forced experimentation, the passage never generalizes that technical glitches 

inherently cause superior art. 

 D is incorrect: Nowhere does the author claim pandemic art was primarily about nostalgia; instead, it reflected 

contemporary realities and emotions (lines 5–8). 

 

Q105. Correct Answer: D (Difficulty: Hard) 

Explanation: Option D is correct because the passage’s central conclusion is that certain works — Burnham’s Inside (lines 5–

13) and the Sondheim tribute (lines 19–27) — authentically expressed the emotional reality of the pandemic and thus “will 

stand the test of time” (line 3). 

 A is incorrect: The passage does not suggest only “major celebrities” will be remembered. Burnham, for instance, 

was “entirely unknown to me” before Inside (line 9). 

 B is incorrect: There is no claim that cultural production “increased exponentially”; the author is evaluating quality 

and endurance, not sheer volume. 

 C is incomplete: While true that hurdles were overcome (line 19), this alone doesn’t capture the passage’s 

conclusion about enduring cultural touchstones. 

 

Q106. Correct Answer: A (Difficulty: Medium) 

Explanation: Option A strengthens the argument by providing longitudinal evidence that Inside continues to receive acclaim 

and influences later works. This aligns with the author’s claim that such works “will stand the test of time” (line 3). Sustained 

recognition directly confirms the passage’s thesis of endurance. 

 B is incorrect: Suggesting waning audience interest undermines, rather than strengthens, the argument. 

 C is incorrect: Declining revenues or streaming numbers point to ephemerality, which weakens the claim of 

endurance. 

 D is incorrect: Market preferences for blockbusters are irrelevant here; the discussion is about cultural significance, 

not advertising budgets. 

 

Q107. Correct Answer: C (Difficulty: Medium) 

Explanation: Option C is correct because the argument that Inside qualifies as a masterpiece assumes that works capturing 

raw, relatable emotions of crisis will endure as cultural memory. This is evident in lines 6–13, where Burnham’s special is 

described as both “blisteringly funny and devastatingly honest,” making solitary pandemic experiences universally resonant. 

 A is incorrect: Technical skill is mentioned (line 7: “directed, written, and performed”), but the enduring value is tied 

to emotional authenticity, not technique alone. 

 B is incorrect: The passage does not assume all solitary creativity is superior; it specifically praises Burnham’s use 

of isolation. 

 D is incorrect: Innovation is not attributed automatically to isolation; rather, the focus is on honesty and resonance 

(lines 8–12). 

 

Q108. Correct Answer: A (Difficulty: Medium–Hard) 

Explanation: Option A captures the paradox that, although the pandemic imposed isolation and technical constraints, these 

very limitations sparked creative breakthroughs. The Sondheim tribute nearly failed due to glitches (line 19) yet became a 

triumph (lines 20–27), while Inside was born out of confinement but emerged as “a masterpiece” (line 5). Thus, adversity 

became the catalyst for enduring art. 

 B is incorrect: The passage does not suggest the impact was “as light and transient” as its conditions — it stresses 

enduring resonance (lines 2–3). 
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 C is incorrect: Commodification via platforms is not discussed here — that belonged to the Instagram passage, not 

this one. 

 D is incorrect: Mystique versus authenticity is not at issue; the paradox is about how constraints bred innovation. 

Passage Brief Explanation (4–5 Lines) 

The passage reflects on the art produced during the pandemic and how certain works managed to capture the mood of 

those challenging times. It contrasts forgettable outputs with extraordinary creations that resonated deeply—using 

examples like Bo Burnham’s Inside and a Sondheim tribute featuring celebrated theater figures. The discussion centers on 

how these works not only documented the historical moment but also offered emotional relief and long-lasting cultural 

significance. Ultimately, the passage argues that art which “met the moment” will stand as a cultural touchstone long after 

the crisis has passed. 

Approach to Reading the Passage 

 Identify the Theme: Recognize that the passage is about evaluating pandemic-era art, distinguishing between 

transient works and those that capture enduring cultural value. 

 Understand the Main Idea: Focus on how certain artistic expressions—though born out of adversity—transcend 

their immediate context to become lasting cultural icons. 

 Note the Tone and Difficulty: Be prepared for reflective language, historical context, and comparisons between 

different forms of artistic expression. 

 Highlight Key Details: Pay attention to the specific examples (e.g., Bo Burnham’s Inside and the Sondheim tribute) 

and the criteria by which the art is assessed—emotional impact, innovation, and cultural resonance. 

Question-by-Question Approach and Explanation 

1. Question on Premises: Approach: Identify the statement that the author explicitly asserts in the text. 

Tip: Look for a clear comparison or contrast the passage makes—such as noting that while much art from the 

pandemic is forgettable, certain works (like Inside) have captured the moment in a profound way. 

2. Question on Inferences: Approach: Draw a logical conclusion that is implied but not directly stated. 

Tip: Consider what the examples (e.g., overcoming technical difficulties in live performances) imply about the nature 

of pandemic-era art—the capacity to triumph over adversity and create lasting value. 

3. Question on Conclusions: Approach: Select the answer that best summarizes the overall outcome or judgment the 

author reaches regarding the art of the period. Tip: Reflect on how the passage culminates in asserting that works 

which resonated emotionally (like Burnham’s and the tribute) will endure culturally. 

4. Question on Strengthening Arguments: Approach: Choose evidence that would bolster the passage’s claim that 

certain pandemic artworks have long-lasting cultural significance. 

Tip: Focus on evidence or data (e.g., sustained critical acclaim over time) that would support the idea that these 

works are not just momentarily impactful but will be remembered. 

5. Question on Assumptions: Approach: Identify what must be accepted for the author’s argument about enduring 

cultural touchstones to hold true. Tip: Look for the underlying belief that art capturing authentic, painful, or 

transcendent experiences will always carry cultural weight and be preserved over time. 

6. Question on Paradoxes: Approach: Look for a statement that highlights a contradiction inherent in the subject 

matter. 

Tip: Notice how the passage depicts the pandemic’s limitations—such as isolation and technical difficulties—as 

ironically fertile ground for groundbreaking art, an inherent tension that is central to the discussion. 

Elaborate Breakdown of Critical Reasoning Elements 

Premises: 

 Explicit Fact: The passage states that much art produced during the pandemic is forgettable; however, some works 

captured the essence of the moment. 

 Example Provided: Works like Bo Burnham’s Inside are highlighted as masterpieces that articulate the surreal 

experience of the crisis through innovative, emotionally charged performance. 

Inferences: 

 Emergent Quality from Adversity: One may infer that the constraints imposed by the pandemic (isolation, technical 

challenges) inadvertently fostered unique forms of artistic expression. 
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 Shift in Art Perception: The passage implies that traditional modes of art were redefined by digital platforms, making 

them more personal and immediate for viewers. 

Conclusions: 

 Enduring Value: The passage concludes that art which captures the raw, collective experience of the pandemic—

such as Inside and the Sondheim tribute—will be remembered as cultural touchstones. 

 Cultural Impact: The lasting impact of these works is due to their ability to make the audience “feel something” 

deeply in troubling times. 

Arguments (and How to Strengthen): 

 Primary Argument: The author argues that while many artistic outputs from the pandemic may fade away, a select 

few have transcended their moment to become lasting symbols of resilience and innovation. 

 Strengthening Evidence: If longitudinal studies or sustained critical acclaims exist showing that works like Inside 

continue to influence art and culture, such evidence would reinforce this argument. 

 Counterpoints Addressed: The passage acknowledges that not all art from that period will be remembered, thereby 

setting the stage for distinguishing between ephemeral and enduring works. 

Assumptions: 

 Cultural Memory: It is assumed that art which evokes strong emotional responses and authentically represents a 

historical moment will be preserved and celebrated in the cultural memory. 

 Value of Authenticity: The argument rests on the assumption that authenticity and emotional resonance in art 

directly contribute to its long-term impact and recognition. 

Paradoxes: 

 Creative Constraints as Catalysts: The major paradox is that the very limitations of the pandemic (isolation, technical 

challenges, a dearth of traditional venues) served as a catalyst for producing exceptional art, revealing that adversity 

can lead to extraordinary creativity. 

 Ephemeral vs. Enduring: While the immediate crisis led to a burst of temporary and sometimes forgettable artistic 

output, it simultaneously produced works of profound depth that will endure—highlighting the dual, contradictory 

nature of creative response in times of crisis. 

 

Q109. Answer: C. ₹135.00 (Difficulty: Easy) 

Explanation: 

 Correct Option (₹135.00): 

1. Number of apples = 10 (line 4). 

2. Unit price per apple = ₹15 (line 8). 

3. Total before discount = 10 × ₹15 = ₹150 (lines 4 & 8). 

4. Apples discount: For every 5 apples, 10% off total apple price (line 9). 10 apples form exactly two groups of 

5, so full 10% applies to ₹150 = ₹15 discount. 

5. Net payable = ₹150 − ₹15 = ₹135. 

 Why Other Options Are Incorrect: 

1. ₹150.00 (A): Ignores the 10% discount on apples (line 9), so fails to subtract ₹15. 

2. ₹120.00 (B): Implies a flat 20% discount on apples, but policy only gives 10% per 5 apples, not cumulative 

20%. 

3. ₹110.00 (D): Suggests a 26.7% discount, which is not supported by the stated “10% per 5 apples” rule (line 

9). 

 

Q110. Answer: B. ₹11.50 (Difficulty: Medium) 

Explanation: 

1. Oranges Discount: 

o Oranges purchased = 8 (line 5). 

o Unit price = ₹10 (line 8). 

o Total orange cost = ₹80. 
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o Discount for every 4 oranges = 5% on oranges (line 10). There are two full groups of 4, so 5% of ₹80 = ₹4.00 

discount. 

2. Apples Discount: 

o Apples purchased = 5 (line 4). 

o Unit price = ₹15 (line 8). 

o Total apple cost = ₹75. 

o Discount for 5 apples = 10% on ₹75 (line 9) = ₹7.50 discount. 

3. Total Discount: ₹4.00 + ₹7.50 = ₹11.50. 

 Why Other Options Are Incorrect: 

o ₹12.50 (A): Suggests ₹5 on oranges (i.e., 6.25% rate) instead of stated 5% (line 10). 

o ₹10.75 (C): Could only arise if someone mis-computed 10% of ₹75 as ₹7.25 or 5% of ₹80 as ₹3.50, both 

inconsistent with lines 9–10. 

o ₹9.00 (D): Would reflect only one of the two discounts (e.g., 10% on ₹75 = ₹7.50 plus 5% on ₹30 = ₹1.50) 

which ignores correct grouping of 8 oranges. 

 

Q111. Answer: B. 20% (Difficulty: Easy) 

Explanation: 

1. Grapes count = 10 (line 6). 

2. Total fruits = 50 (line 2). 

3. Percentage = (10 ⁄ 50) × 100% = 20%. 

 Why Other Options Are Incorrect: 

o 25% (A): Would require 12.5 grapes out of 50, but actual count is 10 (line 6). 

o 15% (C): Corresponds to 7.5 fruits, not matching line 6. 

o 10% (D): Would mean 5 grapes only, but passage states 10 grapes (line 6). 

 

Q112. Answer: D. ₹4.00 (Difficulty: Easy) 

Explanation: 

1. Grapes unit price = ₹5 (line 8). 

2. Under “buy 8, get 2 free,” the customer pays for 8 grapes but receives 10 (line 11). 

3. Total payment = 8 × ₹5 = ₹40. 

4. Effective unit price = ₹40 ÷ 10 = ₹4.00. 

 Why Other Options Are Incorrect: 

o ₹5.00 (A): Ignores the free-grapes benefit entirely (line 11). 

o ₹3.50 (C): Would imply paying ₹35 total, but shopkeeper charges ₹40 for 10 grapes under the offer (lines 8 

& 11). 

o ₹4.50 (B): Means total ₹45 paid, which contradicts the 8-for-10 grapes deal (you only pay for 8). 

Q113. Answer: A. ₹321 (Difficulty: Hard) 

Explanation: 

1. Regular customers = 25 (line 14). 

2. Each buys one apple ⇒ total apples = 25 (line 4 & 14). 

3. Apple price = ₹15 (line 8) ⇒ total = ₹375. 

4. Apple discount: For every 5 apples, 10% off. There are five groups of 5 ⇒ discount = 10% of ₹375 = ₹37.50. ⇒ net = 

₹375 − ₹37.50 = ₹337.50. 

5. Loyalty discount (5% on net total after other discounts, line 13): 5% of ₹337.50 = ₹16.875 ⇒ final bill = ₹337.50 − 

₹16.875 = ₹320.625, rounded to ₹321.  

 Why Other Options Are Incorrect: 

o ₹310.00 (B): Overstates by ₹10, perhaps due to incorrect rounding before loyalty discount. 

o ₹312.00 (C): Assumes either a larger loyalty discount (e.g., 10% instead of 5%) or misapplies apple discount 

cumulatively. 
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o ₹325.00 (D): Doesn’t align with exact calculation—could reflect ignoring decimal precision after loyalty 

discount (line 13). 

 

Q114. Answer: A. 30 : 16 : 4.44 : 4.44 (Difficulty: Hard) 

Explanation: 

1. Apples: 

o Stock = 20 (line 4). Price ₹15 each (line 8) ⇒ gross = ₹300. 

o Discount: For every 5 apples, 10% applies. 20 apples = 4 groups ⇒ discount = 10% of ₹300 = ₹30 ⇒ net = 

₹270. 

2. Oranges: 

o Stock = 15 (line 5). Price ₹10 each (line 8) ⇒ gross = ₹150. 

o Discount: For every 4 oranges, 5% applies. There are three full groups of 4 =12 oranges ⇒ 5% of (12 × 

₹10=₹120) = ₹6; remaining 3 oranges get no discount ⇒ 3 × ₹10=₹30; net = (₹120 − ₹6)+₹30 = ₹144. 

3. Grapes: 

o Stock = 10 (line 6). Under buy 8 get 2 free (line 11), pay for 8 at ₹5 = ₹40. 

4. Bananas: 

o Stock = 5 (line 7). No discount; 5 × ₹8 = ₹40 (line 8). 

5. Revenues: Apples = ₹270, Oranges = ₹144, Grapes = ₹40, Bananas = ₹40. 

6. Ratio: 270 : 144 : 40 : 40 ⇒ divide by 9 ⇒ 30 : 16 : 4.444… : 4.444…; to match integer form, we note rounding of 

oranges gives 15 instead of 16. Option A best matches the intended simplification. 

 Why Other Options Are Incorrect: 

o 15 : 10 : 1 : 1 (B): Halves apples and oranges but underrepresents grapes/bananas by a factor of 4. 

o 3 : 1.5 : 0.4 : 0.4 (C): Expresses decimals rather than integer ratio; also 1.5:0.4 doesn’t align precisely with 

144:40. 

o 60 : 30 : 8 : 8 (D): Doubles each term of A, but original revenues total do not scale to those numbers without 

changing units. 

Passage Overview & Reading Approach 

The passage outlines a small fruit shop’s stock, revised prices, and layered discount schemes over a weekend rush, blending 

straightforward arithmetic with conditional offers. Test-takers should first map out the inventory counts and unit prices 

(apples ₹15, oranges ₹10, grapes ₹5, bananas ₹8), then layer in each discount rule (apple bulk discount, orange slab discount, 

grape “free” offer, no banana discount) before applying the loyalty rebate. Given its multi-step nature—grouping items, 

applying percentage and flat deals, then sequencing loyalty reductions—it demands careful organization of computations 

and attention to order of operations. Recognizing that some discounts depend on group sizes (e.g., “every 5 apples”) and 

others on fixed freebies or flat rates is key to managing complexity. Overall, the theme tests percentage calculations, ratio 

comparisons, and sequential arithmetic operations under real-world constraints. 

Question-by-Question Approach Guidance 

1. Apple Bulk Discount Calculation 

Identify the total cost for the given number of apples, determine how many full discount groups apply, compute the 

10% reduction, and subtract to find the net payable. Keep units consistent and avoid compounding discounts. 

2. Combined Orange & Apple Discounts 

Tackle each fruit separately: calculate the slab-based percentage off oranges, then the bulk discount on apples. Sum 

the individual discounts for the total benefit. Break the problem into two clear sub-calculations before adding. 

3. Stock Percentage Comprehension 

Use basic ratio formula: (specific fruit count ÷ total stock) × 100. This question checks your ability to translate 

absolute counts into percentages quickly without extra discount complexity. 

4. Effective Unit Price with Free Items 

Determine how many items are paid for versus received under the “buy 8, get 2 free” deal, calculate total payment, 

then divide by total items taken. It tests your grasp of freebies affecting unit cost. 
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5. Sequenced Discounts for Regulars 

First apply the bulk discount on the cumulative apples bought, then compute the subsequent 5% loyalty rebate on 

the reduced total. Maintain the proper order: bulk discount ➔ loyalty discount. 

6. Aggregate Revenue Ratio Simplification 

Compute net revenues for each fruit category after applying their respective offers, then form a four-term ratio. 

Finally, simplify by dividing all terms by a common factor to yield the neatest integer sequence. 

 

Q115. Answer: B. 84% (Difficulty: Medium) 

Explanation: 

1. Park area: half of 300 × 200 = 150 × 200 = 30,000 m² (lines 1–2). 

2. Lawn area: 140 × 180 = 25,200 m² (line 5). 

3. Percentage: (25,200 ÷ 30,000) × 100 = 84%. 

4. Why 78% (A) is wrong: That would imply a lawn area of 23,400 m², but the passage gives 25,200 m² (line 5). 

5. Why 88% (C) is wrong: Suggests 26,400 m², which exceeds the stated 140 × 180 calculation (line 5). 

6. Why 92% (D) is wrong: Implies 27,600 m², wildly off from the given dimensions. 

7. Careful use of the exact lawn and park dimensions (lines 2 & 5) yields 84%, so only option B matches. 

 

Q116. Answer: A. ₹18,840 (Difficulty: Hard) 

Explanation: 

1. Radius: 10 m each, so area per bed = π × 10² = 3.14 × 100 = 314 m² (line 6). 

2. Three beds: 314 × 3 = 942 m² total. 

3. Cost rate: ₹20 per m² (line 11). 

4. Total cost: 942 × 20 = ₹18,840. 

5. Why ₹17,670 (B) is wrong: That would assume an area of 883.5 m² or a wrong rate; neither aligns with 314 m² per 

bed (line 6). 

6. Why ₹19,200 (C) is wrong: Reflects 960 m² at ₹20, but actual total is 942 m² (line 6). 

7. Why ₹20,160 (D) is wrong: Would be 1,008 m² × ₹20, inconsistent with three 314 m² circles. 

8. Using the exact circular-area formula and stated cost (lines 6 & 11) gives ₹18,840, so B is correct. 

 

Q117. Answer: D. ₹84,000 (Difficulty: Medium) 

Explanation: 

1. Park perimeter: 2 × (150 + 200) = 700 m (lines 2–3). 

2. Wall height: 4 m (line 8). 

3. Wall area: 700 × 4 = 2,800 m². 

4. Paint rate: ₹30 per m² (line 9). 

5. Total cost: 2,800 × 30 = ₹84,000. 

6. Why ₹72,000 (A) is wrong: That would be 2,400 m² × ₹30, but the area is 2,800 m² (lines 2–3 & 8). 

7. Why ₹96,000 (C) is wrong: Implies painting 3,200 m² of wall—no basis in the given plot dimensions. 

8. Why ₹108,000 (B) is wrong: Suggests 3,600 m² × ₹30; again, exceeds the actual wall surface. 

The correct wall area and paint rate (lines 8–9) yield ₹84,000, so option D is the only match. 

 

Q118. Answer: C. ₹75,000 (Difficulty: Medium) 

Explanation: 

1. Pond dimensions: 20 × 15 = 300 m² (line 7). 

2. Tile rate: ₹250 per m² (line 10).  

3. Total cost: 300 × 250 = ₹75,000. 

4. Why ₹50,000 (A) is wrong: That would be 200 m² × ₹250, but pond is 300 m² (line 7). 

5. Why ₹62,500 (B) is wrong: Implies 250 m², not matching pond area. 

6. Why ₹90,000 (D) is wrong: Corresponds to 360 m², which is not the given pond size. 
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7. Only multiplying the exact pond area by the stated tile rate (lines 7 & 10) gives ₹75,000, so C is correct. 

 

Q119. Answer: A. 84 : 1 (Difficulty: Medium) 

Explanation: 

1. Lawn area: 140 × 180 = 25,200 m² (line 5). 

2. Pond area: 20 × 15 = 300 m² (line 7). 

3. Raw ratio: 25,200 : 300 = 84 : 1 after dividing both sides by 300. 

4. Why 70 : 3 (B) is wrong: That reduces to ≈23.33 : 1, which is far off 84 : 1. 

5. Why 42 : 5 (C) is wrong: Equals 8.4 : 1, not matching 25,200 ÷ 300. 

6. Why 168 : 2 (D) is wrong: Although 168 ÷ 2 = 84, the ratio isn’t in simplest form; 84 : 1 is fully reduced. 

7. The exact division of areas (lines 5 & 7) yields 84 : 1, making A the correct fully-simplified ratio. 

 

Q120. Answer: D. 158 m² (Difficulty: Hard) 

Explanation: 

1. Total park: 150 × 200 = 30,000 m² (lines 2–3). 

2. Track area: Outer minus inner park area = 30,000 − (140 × 190) = 30,000 − 26,600 = 3,400 m² (lines 3–4 & 5). 

3. Lawn area: 25,200 m² (line 5). 

4. Flower beds: 3 × (π × 10²) ≈ 942 m² (line 6). 

5. Pond area: 300 m² (line 7). 

6. Sum occupied: 3,400 + 25,200 + 942 + 300 = 29,842 m². 

7. Remaining: 30,000 − 29,842 = 158 m². 

8. Why 342 m² (B) is wrong: Could arise from miscomputing track as 3,600 m² or beds incorrectly. 

9. Why 450 m² (C) and 612 m² (A) are wrong: Both overstate the leftover by mis-adding one or more areas. 

10. Only the precise subtraction of all component areas from the total park area (lines 3–7) yields 158 m², so D is correct. 

Passage Overview & Reading Approach 

The passage describes how a half-plot in Bengaluru is converted into a public park with multiple features—walking track, 

central lawn, flower beds, pond, and enclosing wall—each with specific dimensions and cost parameters. Test-takers should 

first delineate the overall park area, then recognize nested components (track around the lawn, circular beds, pond) and 

note the cost or maintenance rates tied to each feature. Because questions blend geometry (areas of rectangles and circles), 

ratios, percentages, and sequential cost calculations, it’s crucial to organize data systematically—listing dimensions, 

computing individual areas, and then applying rates or discounts in the correct order. A clear, step-by-step sketch or table 

mapping each element and its formula will streamline complex multi-step arithmetic. 

Approach per Question 

Question 115: Identify the total park and lawn areas using given rectangular dimensions, then apply the percentage formula 

(part ÷ whole × 100). Keep units consistent to avoid mis-scaling. 

Question 116: Compute each circular bed’s area with πr² before summing for three beds, then multiply by the per-square-

meter maintenance rate. Break into “area” and “cost” sub-calculations. 

Question 117: Find the park’s perimeter from its rectangle dimensions, multiply by wall height for surface area, then apply 

the paint rate. Remember that painting applies to the entire boundary length. 

Question 118: Use the pond’s length × width for area, then multiply by the decorative-tile rate. Confirm that tile installation 

area equals pond surface area, with no extra border. 

Question 119: Divide the lawn area by the pond area to get a raw ratio, then simplify both terms by their greatest common 

divisor for the final integer ratio. Always reduce fully. 

Question 120: Sum all occupied areas—walking track (outer area minus inner lawn footprint), lawn, flower beds, and pond—

and subtract from total park area. Organize as “total – (sum of parts)” to find the remainder. 
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